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Question Number : 1 Question Id : 64635018208 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A teacher gives lot of positive and negative examples to support his / her presentations in the
classroom. Thigs will be related to which level of teaching?

(1) Autonomous development level (2)
(3) Understanding level (4)

Options:

Memory level

Reflective level



E4E350714595. 1
64535071500, 2
64535071501, 3
64535071502, 4

Question Number : 1 Question Id : 64635018208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350714399, 1
E4E35071500. 2
E4E35071501. 3
EAE35071502. 4

Question Number : 2 Question Id : 64635018209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Below are listed some learners’ characteristics. Identify those that help in effective teaching.

(a) Learners’ respect for teacher

(b) Learner’s level of mental ability

(c) Learner's previous experiences

(d) Learner's level of interest to study

(e) Learner's level of interpersonal relation
(fi Learner's view about the society

Select yvour answer from the options given below :

(1) (&), ®), (© and ® (2) (c), (), (e) and (D)
3) (@), ), (c) and (d) @ (b), (), (d) and ()
Options:

64535071503, 1
64535071504, 2
64535071505, 3
EAEZ507 1506, 4

Question Number : 2 Question Id : 64635018209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535071503, 1
64535071504, 2
64535071505, 3
EAE35071506. 4

Question Number : 3 Question Id : 64635018210 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Below are given two columns. Column — A lhists methods of teaching and Column — B lists the
focus of a method. Match Column — A with Column — B.

Column A Column B
(a) Lecture method (1) Emphasizing the participative procedure
of an act
(b) Demonstration method (i) Experience based learning
(c) Project method (111) Imparting large amount of knowledge
(d) Collaborative method (iv) Students engage in different activities

together and learn
Select your answer from the options given below :
(1) @-0); b)), ©)-@); @-av)
@  (@-a); b)-av); ©-0); (d)-Q)
@  (@-Gi); (b)-0); ©-Gi);, (d-0v)
@  (a-0i); (b)-G); ©-0v); -0

Options:
64635071507, 1
64535071508, 2
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Question Number : 3 Question Id : 64635018210 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535071507, 1
64535071508, 2
64835071509 2
4535071510, 4

Question Number : 4 Question Id : 64635018211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Below are listed some activities performed by a teacher. Which activities are of the nature of
formative evaluation?

(a) Giving a mastery test

(b) Conducting quiz session

(¢) Evaluating students in grading system

(d) Providing feedback while teaching

(e) Encouraging students reflect more

Select your answer from the options given below :
1) (a), (b) and (©
@ (b)), ©and(d)
3)  (b), (d) and (e)

@) (), (c) and (e)
Options:
645350715111
64535071512, 2
64535071512, 3
64535071514 4

Question Number : 4 Question Id : 64635018211 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



= fereht sreamaes gra frewiea weiwam i gEh 4 13 2) w1 A FEwem FrerEs g # wwid
& 87

(@)  Fgoman s gar

b) o= W w1 A

)  TfSm yomeft 7 fEnfiht w1 g
@  foreor 7 wfagfe &

) (efiat & faaw =i 9g@n &

fr= féu o foeredt § B e I ghw
1) @, b E
@ ) @@
@) (), @ ()

@ b)), (e a
Options:

64835071511, 1

4535071512 2

64535071512,

64535071514, 4

Question Number : 5 Question Id : 64635018212 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

From the hist given below, identify those teaching methods which have a great scope for
dialogic discourses.

(a) Lecture with audio — visual aids

(b) Team teaching

(¢c) Tutorials

(d) Problem solving methods

(e) Chalk and talk method

(fi  Group discussions

Select your answer from the options given below :

(1) (&), ®) and () (2) (o), [ and
3) (b, ) and () @ (d), (¢) and ()
Options:

645350715151



EAE35071516. 2
64535071517, 3
645350715158, 4

Question Number : 5 Question Id : 64635018212 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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645350715151
64535071516, 2
64535071517, 3
E4EZ50715158. 4

Question Number : 6 Question Id : 64635018213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Supervisor’'s certification on the thesis

(1) Gives name and fame to the supervisor
(2) Clears different bottlenecks 1in the system
(3) Gives welghtage to the scholar’'s work

(4) Ensures originality of the work

Options:

64635071519, 1
E4E35071520. 2
4535071521, 5
64535071522, 4

Question Number : 6 Question Id : 64635018213 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64635071519, 1
64535071520 2
64535071521, =
64535071522 4

Question Number : 7 Question Id : 64635018214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

After identifying the different variables and establishing the logical reasoning in theoretical
framework, the next step in the research process 1s to

(1) Conduct survey (2) Generate hypothesis
(3) Focus on group discussion (4) Use experiment in an investigation

Options:

64635071523,
64535071524,
64535071525,
4835071526,

[ N Y

Question Number : 7 Question Id : 64635018214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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64535071522, 1
64535071524, 2
EAE3507 1525, 3
EAE3507 1526, 4

Question Number : 8 Question Id : 64635018215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which stage in research creates a working thesis for the research paper by specifying and
organizing the category of information?

(1) Research design (2) Developing a hypothesis
(3) Rewview of literature (4) Analysis of data



Options:

64535071527, 1
64835071528 2
4535071529 2
64535071520, 4

Question Number : 8 Question Id : 64635018215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BAE35071527. 1
64535071528, 2
64535071529, 3
E4E35071530. 4

Question Number : 9 Question Id : 64635018216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Participation in which type of research has the great potential for ensuring the improvement
of the professional as well as work situation?

(1) Fundamental research (2) Applied research
(3) Evaluative research (4) Action research
Options:

E4E35071531. 1
EAE35071532. 2
64535071533, 3
64535071534, 4

Question Number : 9 Question Id : 64635018216 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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64535071531, 1
64535071532, 2
E4E35071533. 3
EAE35071534. 4

Question Number : 10 Question Id : 64635018217 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Reference serves the purpose of
(1) Lending authenticity to the given content (2) Insightful decision making
(3) Giving ornamental value to theresearch (4) Exhibiting the great achievement

Options:

64635071535, 1
64535071536, 2
64535071537, 2
64535071538 4

Question Number : 10 Question Id : 64635018217 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E35071535. 1
E4E35071536. 2
B4E35071537. 3
64535071538, 4

Sub-Section Number: 2
Sub-Section 1d: 646350887
Question Shuffling Allowed : Yes

Question Id : 64635018218 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension



All great thinkers live and move on a high plane of thought. It 1s only there they can breathe
freely. It 1s only in contact with spirits like themselves they can live harmoniously and
attain that serenity which comes from ideal companionship. The studies of all great thinkers
must range along the highest altitudes of human thought. I have always thought that the
strongest argument 1n favour of the Baconian theory was, that no man, however indubitable
his genius, could have written the plays and sonnets that have come down to us under
shakespeare’s own name who had not the liberal education of Bacon. The magnificent ideals
that have ever haunted the human mind and given us our highest proofs of a future
immortality by reason of the impossibility of their fulfilment here, are splintered into atoms
by contact with life’s realities. Hence comes our sublime discontent. A habitual mediation on
the vast problems that underline human life and are knit into human destinies — thoughts of
immortality, of the littleness of mere man, of the greatness of man’s soul, of the splendors of
the universe that are invisible to the ordinary traffickers in the street, as the vastness of St.
Peter's 15 to the spider that weaves her web in a corner of the dome—these things do not fit
men to understand the average human being, or tolerate with patience the sordid
wretchedness of the unregenerated masses. It 1s easy to understand, therefore, why such
thinkers fly to the solitude of their own thoughts, or the silent companionship of the
immortals and if they care to present their views 1n prose or verse to the world, that these
views take a sombre and melancholy setting from “the pale caste of thought” in which they
were engendered.

Sub questions

Question Number : 11 Question Id : 64635018219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Great thinkers are content to live

(1) Amidst crises of civilizations
(2) In lofty thoughts with an exceptional calm
(3) At high altitudes in order to be away from society

(4) With complexities of life and find solutions to them

Options:

64535071539, 1
64535071540 2
64835071541, =2
64535071542, 4

Question Number : 12 Question Id : 64635018220 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to the passage, our sublime discontent 1s due to

(1) Realization of our lack of contact with God
(2) Acute sensge of loneliness 1in a hostile world

(3) Possibility of immortality through some channels to god and the inability to get hold
of it
(4) The contrast between the ideals in great literature and their opposite in the real life
Options:
C4AE3E071545 1
4525071544 2

64535071545, 3
64535071546, 4

Question Number : 13 Question Id : 64635018221 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Bacomian liberal education 1s

(1) A lofty and ideal fantasy

(2) Instrumental in making human beings rue over their destiny
(3) An engagement with the intricacies of the day to day life

(4) Equivalent to ancient ideas of sublimity

Options:

64535071547, 1
64535071548, 2
64835071549 =2
4535071550, 4

Question Number : 14 Question Id : 64635018222 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Immortality is the crucial idea constantly being explored by

(1) Ordinary traffickers (2) Great thinkers
(3) Gods who appear to the thinkers (4) Scientists
Options:

64535071551, 1
64535071552, 2
E4E35071553. 3
EAE35071554. 4

Question Number : 15 Question Id : 64635018223 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Why do great thinkers love solitude?

(1) To be in pursuit of the ideal in the company of immortals

(2) To spend time in peace

(3) Because they are misanthropists

(4) Because the world 1s unhealthy for them
Options:

E4E35071555. 1
E4E35071556. 2
64535071557, 3
64535071558, 4

Question Id : 64635018218 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension
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Sub questions

Question Number : 11 Question Id : 64635018219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635071539, 1
64535071540 2
64535071541, =2
4835071542 4

Question Number : 12 Question Id : 64635018220 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535071543, 1
64835071544 2
64535071545, 5
64535071546, 4

Question Number : 13 Question Id : 64635018221 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64635071547, 1
64535071548, 2
64535071549 =



EAE35071550. 4

Question Number : 14 Question Id : 64635018222 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ad T ARyl foen @ fomeht fiat @t 6t s @ 2

(1) =€ ThE & 20 (2) WEHEES g
@)  THaw & ane Uehe B4 ATl dadieli g () asntesi g
Options:

E4535071551. 1
64535071552, 2
64535071553, 3
64535071554, 4

Question Number : 15 Question Id : 64635018223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR feaw! i T b1 The 27

(1) i 6 Eta § sTey feufd S qem § 3 & Ry
@) i o Sfias =dta s & fn

(3) i o HITE A gOT L @
(4)  TFife GrEas Sa @ fovg I fon craaes 2

Options:

64835071555, 1
64535071556, 2
64535071557, o
64535071558, 4

Sub-Section Number: 3
Sub-Section Id: 646350888
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635018224 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Assertion (A) : Communication has the power to inform, persuade and misinform.

Reason (R) : Propaganda blurs the thin line between truth and falsehood to be persuasive.

Choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) (A) 18 true, but (R) is false

(4) (A) 15 false, but (R) is true



Options:

64535071559, 1
4835071560 2
4535071561, 2
64535071562, 4

Question Number : 16 Question Id : 64635018224 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4835071559, 1
64535071560, 2
64535071561, 5
64535071562, 4

Question Number : 17 Question Id : 64635018225 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A basic principle of effective class room communication 1s that one should adapt his or her
OWT1 to the audience.

Which of the following would replace the gap?

(1) Accent (2) Exterior
(3) Message (4) Mannerism
Options:

64535071562, 1
EAE35071564. 2
E4E35071565. 3
BAE35071566. 4

Question Number : 17 Question Id : 64635018225 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E350715E3. 1
EAE35071564. 2
E4E35071565. 3
64535071566, 4

Question Number : 18 Question Id : 64635018226 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A key element for effective classroom communication is

(1) Passivity (2) Negativity
(3) Deflection (4) Advocacy
Options:

BAE35071567. 1
64535071568, 2
64535071569, 3
EAE35071570. 4

Question Number : 18 Question Id : 64635018226 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535071567, 1
64535071568, 2
64535071569, 3
EAE35071570. 4

Question Number : 19 Question Id : 64635018227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In communication process, body language 18 associated with

(1) A culture (2) A movie audience

(3) A classroom situation (4) A subject taught

Options:



EAE35071571.1
BAE35071572. 2
64535071573, 3
64535071574, 4

Question Number : 19 Question Id : 64635018227 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535071571, 1
64535071572 2
64835071572 2
4535071574 4

Question Number : 20 Question Id : 64635018228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Local and face-to face commumnication 1s referred to as

(1) Clinical integration (2) Demonstrative integration
(3) Social integration (4) Spatial integration
Options:

E4E35071575. 1
6435071576, 2
64535071577, 3
64535071578, 4

Question Number : 20 Question Id : 64635018228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 3 A -0 =1 1 F27 Hgl 41 2 7

(1) i whiw (2) WEEH THHw
@)  waThoes T (@) Tonfr whER

Options:

64835071575, 1
E4E35071576. 2
64535071577, 5
64535071578, 4

Question Number : 21 Question Id : 64635018229 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Choose the correct alternative.
Cup 1g to coffee as bowl 15 to

(1) Dish (2) Soup
(3)  Spoon 4) Food
Options:

B4E35071575. 1
64535071580, 2
64535071581, 3
EAE3507 1582, 4

Question Number : 21 Question Id : 64635018229 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e fawed I : 9 R FTE T A FEY 2 99 F9d HeU $R T 2|
(1)  =asH (2) HU

(3) == (4) IT=F

Options:

B4E35071575. 1
64535071580, 2
64535071581, 3
64535071582, 4

Question Number : 22 Question Id : 64635018230 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The sixth number in a sequence of numbers 15 32 and each number after the first number in
the sequence 1s 4 less than the number immediately proceeding 1t. What 1s the third number
1n the sequence?

(1) 36 (2) 40
(3) 44 4) 48
Options:

64535071583, 1
64535071584, 2
E4E3507 1585, 3
EAE3507 1586, 4

Question Number : 22 Question Id : 64635018230 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

foret T w0 A o8 wE 32 R 3R 3| wI U vem UEw % W ARael Y% Hedl 36E A% gge
arefl T H 4 9 2| 36 gEal H q|i qem e 27

(1) 36 (2) 40
(3) 41 4 48
Options:

64535071583, 1



EAE35071584. 2
64535071585, 3
B4E35071586. 4

Question Number : 23 Question Id : 64635018231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a class, 20% of the boys have blue eyes and 10% of the girls have blue eyes. If the ratio of
boys to girls in the class is 4 : 3, then what 1s the portion of the students in the class having
blue eyes?

(1) 12/ 33 2y 1445
@ 11/45 @ 11/70

Options:

4835071587,
4835071588,
64535071589,
64535071590,

[

Question Number : 23 Question Id : 64635018231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
foeft e © 20% o=l I o el ? et 10% wsfEd 6 e et 21 afE wan § @S &
agferdi &1 o 4 ¢ 3 2 @1 wen ° Neft o€ g fgenfd= o s 27

(1) 12/33 (2) 14/45
(3) 11/45 @ 11/70
Options:

64535071587, 1
64535071588, 2
E4E35071589. 3
EAE35071530. 4

Question Number : 24 Question Id : 64635018232 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

During one vear, the population of a town increased by 5% and during the next year, the
population decreased by 5%. If the total population 1s 29925 at the end of the second year,
then what was the population size in the beginmng of the first year?

(1) 25000 (2) 30000
(3) 33000 (4) 36000
Options:

E4E35071591. 1
BAE35071592. 2
64535071583, 3
645350715394, 4



Question Number : 24 Question Id : 64635018232 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el TR i SEE H UH a¥ 5% 6 ghE T3 IR O a9 e ° 5% @i fiuae o) 3fg gh |y
& ¥d U FA AEEN 29925 2 1 WUH A9 F WA H TR AEE o6 ?

(1) 25000 (2) 30000
(3) 33000 (4) 36000
Options:

64535071591, 1
64535071532, 2
E4E350715593. 3
EAE350715394. 4

Question Number : 25 Question Id : 64635018233 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The simple interest on a certain sum of money at the rate of 5% p.a. for four years 1s Rs. 420.
At what rate of interest, the same amount of interest can be received on the same sum after
two and half years?

(1) 4% 2 6%
3) 8% @) 10%
Options:

645350715395, 1
64535071536, 2
E4E350715397. 3
E4E350715398. 4

Question Number : 25 Question Id : 64635018233 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt w=fst =1 5% 1 T W WEw AW 420 WY 2 A R6E 9 2 O 34t #@ gt w96 %
TSI S T 3a<t € Tl e E et 27

1) 4% (2) 6%
@ 8% @ 10%
Options:

E4E35071585. 1
E4E35071596. 2
645350715587, 3
645350715398, 4

Question Number : 26 Question Id : 64635018234 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘All children are not greedy’ 1s an example of which proposition?

(1) Universal Affirmative (2) Universal Negative
(3) Particular affirmative (4) Particular Negative
Options:

E4E35071599. 1
64535071600, 2
64535071601, 3
64535071602, 4

Question Number : 26 Question Id : 64635018234 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

At o= AT T2 2| 98 6 9 99E W TR R

(1)  AEATs AfaasEs (2) TS TiaeT=E
@) fafe afte=s (4) Tabe afeE=Es
Options:

E4E35071595. 1
64535071600, 2
64535071601, 3
E453507160Z2. 4

Question Number : 27 Question Id : 64635018235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The argument which claims that its conclusion 1s conclusively supported by its premises 1s

called

(L) Analogical Argument (2) Inductive Argument
(3) Demonstrative Argument (4) Deductive Argument
Options:

E4E35071603. 1
64535071604, 2
64535071605, 3
E453507160E. 4

Question Number : 27 Question Id : 64635018235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a7 %, fored 38 s W = &1 st 2 56 send wm fews enenfemett gro gota: wwfifa 2, seam 2:

()  HGeII a (2) AT dh
(3)  TEN dh (4) AT 9

Options:



EAE35071603. 1
64535071604, 2
64535071805, 3
64535071606, 4

Question Number : 28 Question Id : 64635018236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a school, there are five teachers. A and B both are teaching Hindi and English. C and B
both are teaching English and Geography. D and A both are teaching Punjabi and Hindi. E
and B both are teaching History and French

Who among the teachers 1s teaching maximum number of subjects?

(1) A 2y B
(3) D 4 CandE
Options:

EAE35071607. 1
E4E3507 1608, 2
6453507168045, 3
64535071610, 4

Question Number : 28 Question Id : 64635018236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ot faamem o o= sterme 21 A TR B g1 B2t o s &1 e R ' #1 C o B g1 Ssh
SR syt =1 fver = W @ F1 D it A 2 domst oi fed @ freor w5 @ ¥ E 3 B @
i ot = 1 frem =@ #

T AH § ¥ B F@TE Afehan T = fem s @27

®» A 2 B
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Options:

E4E35071607. 1
E4E35071608. 2
B4535071680%5. 3
64535071610, 4

Question Number : 29 Question Id : 64635018237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the example provided below :

“There 15 no jar now on the ground”

Identify the means of knowledge (Pramana) involved 1n the example from the options given
below :

(1) Anupalabdh (2) Arthapatti
(3) Pratyaksha (4) Anumana



Options:

64535071611, 1
E4E35071812. 2
4535071812 2
64535071614, 4

Question Number : 29 Question Id : 64635018237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T o T Serm W famm it
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(1)  SAqfed (2) gt
(3) T 4) A

Options:

64635071611, 1
64535071612 2
64535071613 =
64535071614, 4

Question Number : 30 Question Id : 64635018238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument given below :

“Sound is permanent because it is audible”

Identify the fallacy invelved in the above argument on the basis of Indian logic from the
options given below :

(1) Fallacy of trivial reason
(2) Fallacy of irrelevant reason
(3) Fallacy of contradictory reason

(4) Fallacy of wrong assertion
Options:
E4E35071615. 1
E4E35071616. 2
E4E35071617. 3
645350716158, 4

Question Number : 30 Question Id : 64635018238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



44 fow e @k W famm B,
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Options:

645350716151
64535071616, 2
64535071617, o
645350716158, 4

Sub-Section Number: 4
Sub-Section 1d: 646350889
Question Shuffling Allowed : Yes

Question Id : 64635018239 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension

Consider the following table that shows the percentage (%) distribution of population of six
cities A-F, ratio of males to females and the percentage (%) of adult population 1n these
cities. Total population of these a1x cities 18 24 lakhs. In accordance with the table, answer
the questions that follow (Questions 31 - 35) :

Population city wise
City % of population Male: Female % Adult

A 21 4:3 60
B 18 i 64
§ 16 5 | i
D 20 2:8 70
E 10 1 B 15
F 15 a3 65

Sub questions

Question Number : 31 Question Id : 64635018240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What 1s the total number of male population 1in City D?

(1) 1.88 lakh (2) 1.92lakh
(3) 1.96 lakh (4) 2.04 lakh
Options:

64535071615, 1
64535071620, 2
64535071621, 3
EABE3507 1622, 4

Question Number : 32 Question Id : 64635018241 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the number of persons in City C who are not adult?

(1) 107520 (2) 108410
(3) 109560 (4) 110800
Options:

B4E535071623. 1
64535071624, 2
64535071625, 3
EAEZE07 1626, 4

Question Number : 33 Question Id : 64635018242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 1s the difference between the number of males and the number of females in City B?

(1) 42000 (2) 44000
(3) 45000 (4) 48000
Options:

E4535071627. 1
EAE3507162E. 2
EAE3507 1629, 3
EAE35071630. 4

Question Number : 34 Question Id : 64635018243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The number of adults in City E 1s what percent of the number of males in City D?

(1) 825% (2) 87.75%
(3) 92.5 % 4 93.75%
Options:

E4E35071631. 1



EAE3507 1632, 2
64535071633, 3
B4E35071634. 4

Question Number : 35 Question Id : 64635018244 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What is the number of persons of City F who are adult?

(1) 232000 (2) 230000
(3) 234000 (4) 242000
Options:

E4E35071635. 1
E4E3507 1636, 2
64535071637, 3
64535071638, 4

Question Id : 64635018239 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label © Comprehension

Trafatea afeem e o8 =0 A - F &t S7eE & Jiawa faawn, @9 e Afgen o ok 3=
Wl H ok wafhedt 1 ufawa guian mn 2, W famm fRsiv) 37 97 TR i F9 SEe 24 9nE 2
afeteht & S8R W9 | 31-35 % IR feefi

& -aN STEET

T ST H % T % aICh
A 21 4:8 60
B 18 5:4 64
C 16 5.8 72
D 20 2.3 70
E 10 gl 75
F 15 3:2 65

Sub questions

Question Number : 31 Question Id : 64635018240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

D-¥g § 769 i1 $a FHE 27

(1) 1.88d@@ (2) 1.92 @M@
(3) 1.96 &g 4) 2.0491E
Options:

E4E35071619. 1
BAE35071620. 2
64535071621, 3



EAE35071622. 4

Question Number : 32 Question Id : 64635018241 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

C-9 1§ 37 =afeal €1 g frat 2 < auF 74 27

(1) 107520 (2) 108410
(3) 109560 (4) 110800
Options:

EAE35071623. 1
BAE35071624. 2
64535071625, 3
4535071626, 4

Question Number : 33 Question Id : 64635018242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

B-3ret 1 g9 R afgen & @@ 1§ fran s 27

(1) 42000 (2) 44000
(3) 45000 (4) 48000
Options:

EAE35071627. 1
BAE35071628. 2
64535071629, 3
64535071630, 4

Question Number : 34 Question Id : 64635018243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

D-3r&t § go8i 6 el T & feha afasm E-vet 09U 27

(1) 825% (2) B871.75%
3) 925% 4) 93.75%
Options:

E4E35071621. 1
BAE35071632. 2
64535071633, 3
64535071634, 4

Question Number : 35 Question Id : 64635018244 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F-vi2t 1 feha =afts aoeh 27

(1) 232000 (2) 230000
(3) 234000 (4) 242000
Options:

E4E35071635. 1
EAE3507 1636, 2
BAE35071637. 3
64535071638, 4

Sub-Section Number: 5
Sub-Section 1d: 646350890
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635018245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

You need to use automatic calculations in preparing a budget. Which software application
should be used?

(1) Spreadsheet (2) Presentation
(3) Word processing (4) Desktop publishing
Options:

64535071635, 1
64535071640, 2
64535071641, 3
EAE3507 1642, 4

Question Number : 36 Question Id : 64635018245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tote Fior ° 2rmaent efiemtes Tiha O gsat 21 35 fOu Fe Iiredat 1 33 o st =nfEe ?

1) EEe (2) USeIH
(3) 9 JEfEm (1) TR wfsafsm
Options:

64535071639, 1
E4E3507 1640, 2
E4E35071641. 3
EAE3507 1642, 4

Question Number : 37 Question Id : 64635018246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the context of I'T/ICT, which one of the following statements about spamming is true?

(1) Spamming 18 posting or e-mailing unsolicited advertising messages to a wide
audience

(2) Spamming is sending lines of nonsensical garbage in a chat conversation

(3 Spamming 1s posting a message that contains graphic description of something
offensive

(4) Spamming 1s an attempt to acquire sensitive information for malicious reasons, by
masquerading as trustworthy entity

Options:

4535071643,
4535071644,
4535071645,
64535071646,

[ N

Question Number : 37 Question Id : 64635018246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535071643,
64535071644,
4835071645,
E4E3507 1646,

[ N

Question Number : 38 Question Id : 64635018247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A wvirus type that is capable of transferring from one computer to another without any ‘user
interaction’ 1 known as

(1) Worm (2) Troan
(3) Key logging (4) Boot sector virus
Options:

EAE35071647. 1
E4E3507 1648, 2
64535071645, 3
64535071650, 4

Question Number : 38 Question Id : 64635018247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535071647, 1
E4E3507 16458, 2
EAE35071643. 3
E4E35071650. 4

Question Number : 39 Question Id : 64635018248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which statement is true about Random Access Memory (RAM) in a computer system?

(1) RAM 1s non-volatile and the amount of RAM 1n a computer system cannot affect its
performance

(2) RAM iz non-volatile and the amount of RAM in a computer system can affect its
performance

(3) RAM is volatile and the amount of RAM in a computer cannot affect its performance

(4) RAM 18 volatile and the amount of RAM 1n a computer system can affect its
performance

Options:

64535071651, 1
64535071652, 2
4535071852 2
64535071654, 4

Question Number : 39 Question Id : 64635018248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Random Access Memory (RAM) & 91 § ffafga § o =9 @1+ w2t 2:
(1)  RAM amftaddig 2 ot g fawen § RAM <t amn 8 3gert * Foare qafeq =2 2 21
2  RAM rufiad-tr 2 o e fieen # RAM 1 Ao & 3wt 1 FroqmeT wenfaa 2t 2

@)  RAM vitad- 2 it S fowen # RAM it 960 ® 35 & Fwgs wwnfga 721 8 s
2

4)  RAM UREdT 2 3R w fieen § RAM 1 010 & 359 &1 Fame wefaa 21 ok 21

Options:

64635071651, 1
64535071652, 2
64535071653 =
48350716854 4



Question Number : 40 Question Id : 64635018249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the binary equuvalent of decimal number 757

(1) 1101001 (2) 101001
(3) 100101 4) 1001011
Options:

64535071655, 1
E4E3507 1656, 2
EAE3507 1657, 3
64535071658, 4

Question Number : 40 Question Id : 64635018249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ZEed wEE 75 6 fg-enamt angents #9127

(1) 1101001 (2) 101001
(3) 100101 (4) 1001011
Options:

E4E35071655. 1
64535071656, 2
64535071657, 3
64535071658, 4

Question Number : 41 Question Id : 64635018250 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for power from roof-top solar installations by the year
2022 1s

(1) 40.0 GW (2) 50.0GW
(3) 60.0 GW (4) 100.0 GW
Options:

64535071659, 1
64535071660, 2
EAE350716EL. 3
EAE3507 1662, 4

Question Number : 41 Question Id : 64635018250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 40.0 Tfimmane (2)  50.0 TrmEre
(3)  60.0 TTER (4)  100.0 TfTTETe
Options:

64535071659, 1
EAE350716E0. 2
EAE350716EL. 3
EAE3507 1662, 4

Question Number : 42 Question Id : 64635018251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
How many National Missions of Indian Government are there to address the problem of
chimate change?

(1) 6 (2) 8
(3) 12 @ 17
Options:

64535071663, 1
64535071664, 2
E4E350716ES. 3
EAE3507 166G, 4

Question Number : 42 Question Id : 64635018251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SeraTy qiEads S TEe & TEEE % [ ana R F s uge e 2

1y 6 2 8
(3) 12 4 7
Options:

EAE350716E3. 1
64535071664, 2
E4E53507 1865, 3
E453507 1666, 4

Question Number : 43 Question Id : 64635018252 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following types of energy sources employ direct energy conversion process to
produce electricity?

(1) Biomass (2) Wind
(3) Geothermal (4) Nuclear

Options:



EAE350716EY. 1
E4E3507 1668, 2
6453507168645, 3
64535071670, 4

Question Number : 43 Question Id : 64635018252 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frefafiga o @ fFm 351 @@ &1 I5am fae@ semeT 1§ e suiad & fae s e ?

(1) ==y (2) 97
@) e 4) R
Options:

EAE350716EY. 1
E4E3507 1668, 2
6453507168645, 3
64535071670, 4

Question Number : 44 Question Id : 64635018253 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A geothermal reserve has the stored heat of 5 x 10¥9dJ. If the over all efficiency of a
geothermal power plant based on this reserve 1s 0.04, how much power can be produced by
the plant in 1 year?

(1) ~0.32 GW (2) ~064GW
(3) ~ 262 GW 4 ~63.41GW
Options:

E4E35071671. 1
BAE3S071672. 2
BAE35071673. 3
BAE35071674. 4

Question Number : 44 Question Id : 64635018253 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

foreht ymifarfir smfafa # 5 < 10100 a0 a@da 21 afg 3@ emfafa ® enur w feddt g-ardfiz fogm
=g i Fa aaar 0.04 2 @ 38 T W 1 99 6 FrEmEty § fean faga 30— e s wwar 27

(1)  ~0.32 Tmare (2) ~ 0.64TmMETRE
(3) ~ 2.62 ThrETe 4) ~ 63.41 Trmare
Options:

E4E35071671. 1
BAE35071672. 2
BAE35071673. 3
E4535071674. 4



Question Number : 45 Question Id : 64635018254 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following materials 1s widely used 1n solar cell fabrication?

(1) Nubidium (2) Silicon
(3) Nickel (4) Chromium
Options:

64535071675, 1
64535071676, 2
EABE3S071E7Y. 3
EAE3507167E. 4

Question Number : 45 Question Id : 64635018254 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hiew ¥t B § =29 59 | 9 A 2

Q)  fafsm @ fafas
@ e @ Hiftem
Options:

B4E35071675. 1
4535071676, 2
4535071677, 3
EAE35071E67E. 4

Question Number : 46 Question Id : 64635018255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The introduction of MOOC 1n open and distance learning programmes 1g justified because of
1ts

(1) Low cost considerations (2) Accessibility considerations
(3) Speed considerations (4) Novelty considerations
Options:

EAE35071675. 1
64535071680, 2
64535071681, 3
4535071682, 4

Question Number : 46 Question Id : 64635018255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T N gy SRm T § MOOC i JHTEs =i @

(1) I & TUR T (2) <fimRET % U W
(3) T % IMEUX | (4) TANET % SET 9T
Options:

BAE35071675. 1
64535071680, 2
64535071681, 3
EAE3507 1682, 4

Question Number : 47 Question Id : 64635018256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Gyan Darshan” launched by IGNOU refers to which one of the following?

(1) Satellite based educational T.V. Channel
(2) Educational FM radio network
(3) (zlobal imtiative of Academic networks

(4) Online courses
Options:

64635071683, 1
64635071684, 2
64635071685, 3
64635071686, 4

Question Number : 47 Question Id : 64635018256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

3 g STN- T T o 2 R -

(1) 39Uz enutha Siféme &, &t 95«
(2) e UF T (a9l Teawh

(3)  SThIgH! Teas I dfvasw TEa
(4) HATATS ISR

Options:

64535071683, 1
64535071684, 2
64535071685, =
64535071686, 4

Question Number : 48 Question Id : 64635018257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Through which Act University Grants Commission came into existence?

(I)  UGC Act — 1956
(2)  UGC Act — 1949
(3) UGC Act — 1944
@  UGC Act — 1968

Options:

64635071687, 1
48350716888, 2
645350716589, 5
64535071690, 4

Question Number : 48 Question Id : 64635018257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fawafoeme orEm M 6 v frm srfufem & oefim g€ i ?

1) favatqemaz @ emm atatEm 1956
@ favatqemas apm amm atafme 1949
() Tavafaene stEm smEm sfuftem 1944
@ fTosafaemem stem emam stufm 1968

Options:

64535071687, 1
4835071688, 2
4535071829 2
64535071690, 4

Question Number : 49 Question Id : 64635018258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following nstitutions was established as a consequence to the closure of

Inter-Umniversity Board brought in for promotion of cooperation among the Universities in
the field of education and allied areas?

(1) Assocration of Central Universities
(2) University Grants Commission

(3) IIAS, Shimla

(4) Association of Indian Umversities

Options:
64535071691, 1



EAE3507 1632, 2
645350716383, 3
64535071654, 4

Question Number : 49 Question Id : 64635018258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

en o meg gmt 1 St favafermadt & ey wggm +6 ag@n 24 & fou o fGefauee =9 &
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Options:

64835071691, 1
64535071692, 2
64535071692, o
64535071694, 4

Question Number : 50 Question Id : 64635018259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following instructional designs 1s part of SWAYAM launched by Government of
India?

(1) E-Tutorial

(i1) E-Content

(111)  Assessment

av)  Disecussion Forum

(V) Classroom teaching

Choose the correct option from below

(1) (1) and (11) only

@ @), (i), Gv) and (v) only
(3) (1), (1), (1) and (v) only
(4) (i11) and (v) only

Options:
64535071695, 1
64535071696, 2



EAE3507 16397, 3
E4535071638. 4

Question Number : 50 Question Id : 64635018259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535071695, 1
64535071696, 2
64535071697, 2
E4E35071898. 4

FART 11 Population Studies

Section Id : 646350398

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 86

Number of Questionsto be attempted: 86

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 646350891

Question Shuffling Allowed : Yes



Question Id : 64635018260 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (51 to 55)
Cuesticon Label | Comprehension

Direction : Answer on the basis of the following paragraph :

Population ageing is a worldwide phenomenon, owing first to declining fertilitv rates and
second to increased life expectancy. In everv region of the world, women are having fewer
children than three decades ago. In the early 1970s, the total fertility rate worldwide was
estimated at 4-5 children for each woman, compared with 2-7 in 2000.

At the same time, advances in nutrition, medicine and lifestvle have resulted in people living
longer. Life expectancy worldwide increased from 45 vears in 1945 to 70 vears in 2000 and
is projected to reach 80 vears by 2050. Nearlv one in four persons will be over 60 vears old
for the first time in historv, thev will outnumber children.

In nearly all countries, women live longer than men. The gap can be as much as 10-5 vears in
Eastern Europe, and as low as 3 vears in South Central Asia. Women make up 33 percent of
older people globally. Although the proportion of older people to vounger ones is currently
higher in developed countries, the demographics of ageing are such that by 2025, 75 percent
of the 1-2 billion people over 60 vears old will live in developing countries.

Widowhood for women over age 60 is most prevalent in Northem Africa and Central Asia
and lowest in Latin America. About 10 percent of women in India are widows. Widowers do
not suffer the social stigma, restrictions and taboos associated with widows. Widow
remarriages are also restricted than the remarriages among the widower.

(Source - Based on Gender Dimensions of Ageing. (Apnl, 2002)by UN Divizsion
for the Advancement of Women, Department o f Economic and Social Affairs,
dovmnloaded on 13th Febmary, 2019)

Sub questions

Question Number : 51 Question Id : 64635018261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following processes has resulted into population ageing?

1.  Declining fertility

b

Declining mortality

3. Increasein life expectancy
4. Decrease in fertilitv along with increase in longevity
Options:

6453507163949, 1
64535071700, 2
E4E35071701. 3
EAE35071702. 4

Question Number : 52 Question Id : 64635018262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following provides the correct male-to-female ratio among the aged
population?

1. 45:35
2 50 : 50
3 35:45
4 60:-40
Options:
6435071703 1
64535071704, 2
64535071705, 2
64535071706, 4

Question Number : 53 Question Id : 64635018263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is the decadal improvement in the projected life expectancy
between 2000 and 20507

1. 1 vear
2. 2 vyears
3. 3 vears

4 4 vears
Options:
64635071707, 1
646325071708 2
64535071709, 3
64635071710, 4

Question Number : 54 Question Id : 64635018264 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What will be the size of the old population of the developing countries by 20257

1. 0-3 billion

2. 0-6billion

3. 0-9billion

4. 1-Obillicn
Options:

64535071711, 1
EAE3507171Z2. 2
E4E35071713. 3
6435071714, 4



Question Number : 55 Question Id : 64635018265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following regions has lowest prevalence of widowhood?

1. North America
2. Central Asia
3.  Eastern Asia
4 Latin America

Options:

64535071715, 1
64535071716, 2
4835071717, 2
4535071718, 4

Question Id : 64635018260 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (51 to 55)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 51 Question Id : 64635018261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535071699, 1
64535071700, 2
E4E35071701. 2
E4E35071702. 4

Question Number : 52 Question Id : 64635018262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o & 219 gz wfEaat & 98 gou-afee s 27

1. 45:

L
L

2. 50:50

4 60 - 40
Options:
64535071703,
64535071704,
64535071705,
64635071706,

[ N

Question Number : 53 Question Id : 64635018263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T 2000 3 2050 F &9 AT SiETST § U6 &8 | o gl sfiglg Fed s &
[

1. g

2. 2w

3. 3°d

4. aqd
Options:

E4E35071707. 1
64535071708, 2
64535071705, 3
64535071710, 4



Question Number : 54 Question Id : 64635018264 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a¥ 2025 d% fawTaxia 3= § g cfead! S G@m T gri?

1. 03 fafemma

2. 0-6fafermq

3. 0-9fafem

4. 1-0faferma
Options:

645350717111
64535071712 2
64535071712 3
EAEZ5071714. 4

Question Number : 55 Question Id : 64635018265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frafafag & 3 feg d7 8 g # Tenmeg 9 87

1. gl ST

2. HEURE

3. ol uftmm

4. wfeT smfia
Options:

E4E35071715. 1
64535071716, 2
64535071717, 3
64535071718, 4

Sub-Section Number: 2
Sub-Section 1d: 646350892
Question Shuffling Allowed : Yes

Question Number : 56 Question Id : 64635018266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the methods of appraisal and adjustment of demographic data given in List—I
with the Authors/Agency, which developed the method given in List—II -

List-I List—II
(a) Preference of numerical digits (i) TUN Index
(b) Heaping at age 0 and > (ii) Myvers’ Index
{c) Sex bias in age reporting (iii) Whipple's Index
(d) Smoothing of single vear age (iv) Zelnik's method

Choose the correct answer from the codes given below :

1L (@) (b)i): (e (d)iv)

]

(a)-Gv): (b)) () (D1
3. (api): (b)): (o)1) (d)iv)

4. (a)id); (b)-v): ()-1): (d)-(i)
Options:
645350717191
G4AE3E5071720. 2
64535071721, 3
GAG35071722. 4

Question Number : 56 Question Id : 64635018266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L (ap); (b)id); (c)(): (d)iv)

b

(@H(v): (b)): (i) (d)-)
3. (), (b)) (1) (d)iv)
4 @) (b)-Gv): () (d)i)

Options:

64535071719, 1
64535071720, 2
4835071721, 2
E4E35071722. 4

Question Number : 57 Question Id : 64635018267 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which of the following vears DLHS-3 was carried out?

1. 2005-2006

b

20062007

3.  2007-2008

4. 2008-2009
Options:
E4E25071725. 1
EAB25071724 2
E4E35071725 3
6AG35071726. 4

Question Number : 57 Question Id : 64635018267 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frafefag § 3 e ad DLHS-3 99 fasar mar u1?

1. 2005-2006

]

20062007
3. 2007-2008

4. 2008-2009
Options:
645350717231
64535071724 2
64E35071725 3
4535071726, 4

Question Number : 58 Question Id : 64635018268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ideally, the denominator for computation of crude birth rate should be person-vears
lived in the vear but we use average population of the vear. Which one of the following
is the correct reason?

1. Person-vears lived = Average population
2. Itis easv to calculate “average population’
3. Data for computation of ‘person-vears lived’ is not available

4 Statement made in the question is not correct
Options:
64535071727 1
64835071728 2
435071729 3
E4E25071730. 4

Question Number : 58 Question Id : 64635018268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64635071727, 1
E4E35071728. 2




EAE35071729. 3
64535071730, 4

Question Number : 59 Question Id : 64635018269 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following options lists four fertilitv indicators—{a) Total Marital
Fertility Rate (TMFR.), (b) General Fertility Rate (GFR.), (c) Crude Birth Rate (CBR),
and (d) Total Fertilitv Rate (TFER) according to their robustness in measuring fertility
{most sensitive to least sensitive)?

1. TMFR, TFR, GFR, CBR
2. TFR, TMFR, GFR, CBK
3. GFR,TMFR, TFR, CBR

4 TFR, GFR, TMFR, CBR
Options:
648350717311
E4E25071732. 2
E4E25071733. 3
64535071734 4

Question Number : 59 Question Id : 64635018269 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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2. 9.U%. 3R € UH U 3R, Wl UF. 3R, 9. 91 3R
3. UL U%. 3R, €. UH. Uh. 3R, €1. U, 3R, 9. 91 3R

4. 9.U%. 3R, ©il. UTF. 3R, <1. UH. U 3R, 9161 3R
Options:
64535071731 1
64635071732, 2
64835071733, 3
64635071734, 4

Question Number : 60 Question Id : 64635018270 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Societal differences are least prominent in

T. Sex ratio at birth

b

Miscarriages and foetal losses
3. Sex differentials in voung childhood

4. Sex differentials in adult age groups
Options:
64535071735 1
64635071736 2
435071737 3
E4B250717358. 4

Question Number : 60 Question Id : 64635018270 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£4635071735. 1
64635071736, 2
£4635071737. 3
£4635071738. 4

Question Number : 61 Question Id : 64635018271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What is the most recent period for which data on “Matemnal Mortality Ratio™ is
available?

-
Pt
[
—
T
-
=]
[
=,

3. 2014-2016

4. 2016-2018

Options:
64535071739, 1



EAE35071740. 2
64535071741, 3
BAE3507174%. 4

Question Number : 61 Question Id : 64635018271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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1. 20102012

]

2012-2014

3. 20142016

4. 2016-2018
Options:
645350717391
64E35071740. 2
64535071741 3
GAG35071742. 4

Question Number : 62 Question Id : 64635018272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the countries shown in List—I with their ranking in terms of their population
density (2018) shown in List—II :

List-I List-II
(a) DBangladesh i) 1
(b) China () 2
{(c) Hong Kong (ui) 3
(d) India (iv) 4
{e) Singapore (v) 3

Choose the correct answer from the codes given below :
L (a)i); (b)iv): (e)-(): (dy(v): (e)ii)
2. (@) (V) () (D) (e)-av)
3. (aH(w): (b)), () (d)-v): (e)(i)
4. (@) ()H): ()Hiv): (d(v): (e)id)

Options:
435071743 1
64535071744, 2



EAE35071745. 3
6435071746, 4

Question Number : 62 Question Id : 64635018272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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() fFTR ¥ 5
f2 g ge # 9 wd sw g

1L (i) (b)v): (e)-): (d)y—(v): (e)(ii)
2. (api): (b)—(v): () (d)—): (e)-av)
3. (@) (b)) () (d)-(v): (e)(ii)
4. (@) (b)) (v (d—(v): (e){ui)

Options:

64535071743, 1
4835071744 2
4535071745 2
64535071746, 4

Question Number : 63 Question Id : 64635018273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is correct ‘India’s percentage of the World's Geographical
Area’ as per the UN Publication, 20187

1. =1-5%

2 1-5%—2-3%

% 2-5%—3-5%

4 >=>33%
Options:

64535071747, 1
64535071748, 2
E4E35071743. 3



EAE35071750. 4

Question Number : 63 Question Id : 64635018273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HIad TP F 2018 & UHIEH & ]8R FH S 9 'YNd & Hriies 89 & wfowd 9y &
S0 Yt 83 & ded dud &7
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4. 33% 9w
Options:
64635071747, 1
64635071748, 2
64835071749, 3
64635071750, 4

Question Number : 64 Question Id : 64635018274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the World/Intemational important davs shown in List—I with their dates of
celebration shown in List—II :

List-1 List-II

{a) National Safe Motherhood Dav i) Apnl7

{b) World Population Dav i) Apnl 11
(c) World Health Daw (i) June >
{d) World Environment Day (iv) July 11

Choose the correct answer from the codes given below :

L (a)y(iv); (b)) (e)—(i): (d)-D

I|--.I'

(a)—(ii); (b)) (e)iv) (d)-)

Lad

(@(): (b)—iv); (c)—i); (d)—(1i)
4 (@v): (b)) (e)(i): (d)(i)

Options:

64535071751, 1
64535071752 2
4835071752 2
4535071754 4



Question Number : 64 Question Id : 64635018274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 & guiy U fay/srRifa geagf fgaw & g1 & sfef@a gve oy o &
driTE | gaferd Hifeg :

-1 -1
() WP e A foaw @ 7 e
(b) oy oden feaw () 11 ¥
(c) fTay=regfegw (i) 5 9
(d) fay mafow fEaw (iv) 11 9o
TRy ge # 9 ¥ s gy

L (@)iv): (b)iid): (e)(i); (1)

b

(a)(d); (o)1) (e)~(iv); (d)—ii)
3. (a0 (b)-v): (e)—): (d)—(i)
4 (@) (b)) (e)id); (d)—(i)

Options:

64535071751, 1
64535071752 2
64535071753, 2
4535071754 4

Question Number : 65 Question Id : 64635018275 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is correct as highest annual exponential growth rate for
India’s population?
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Options:
64635071755, 1
64535071756, 2
64535071757, 2
4835071758, 4

]
-
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Question Number : 65 Question Id : 64635018275 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

YRd S oee & o | waifts aiffe gdie gfg s 22

1. 2-20

2 2-21

3 2-22

4. 2-23
Options:

E4E35071755. 1
EAE35071756. 2
6435071757, 3
64535071758, 4

Question Number : 66 Question Id : 64635018276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following states of India has the second largest population size
according to 2011 Census?

1. Bihar

[~

MMaharashtra
3. Tamil Nadu

4 West Bengal
Options:
645350717591
64535071760, 2
64E35071761. 2
4535071762, 4

Question Number : 66 Question Id : 64635018276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a¥f 2011 B YRT B S0 TR e § § e v § gudl ved gt anerdl 27

1. faBR

2. HERp

3. dfeErg
4. doffm s

Options:



EAE35071759. 1
6435071760, 2
64535071761, 3
64535071762, 4

Question Number : 67 Question Id : 64635018277 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assuming P and P; as population size at the beginning and end of the vear 2000, the
denominator to measure crude death rate should be

]
v

3.  mid-vear population of the vear 2000

4. person-vears lived in the vear 2000

Options:
E4E2E0717832. 1

EAE35071764. 2
E4E35071765. 3
BAE35071766. 4

Question Number : 67 Question Id : 64635018277 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A diforg ad 2000 F HRY AT ofd B TEE &1 HIER P 3N P; B, =T gog aX A
w1 [Huits g1 91fen

i B

B+5,

2

]

3. gd 2000 1 HH gt S i
4. g9 2000 Hoafed & Wifad 184 &1 Safy

Options:

64535071763, 1
4835071764, 2
E4E350717EE. 2
4535071766, 4

Question Number : 68 Question Id : 64635018278 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one among the following is NOT an essential feature of a modem census?

1. Coverage of total area/territory
2. Coverage of all residents
3. Common reference point

4. Coverage of all births
Options:
64635071767, 1
64835071768 2
435071769, 2
E4E25071770. 4

Question Number : 68 Question Id : 64635018278 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frofafad & 9 w1 ey SoHT @ T e 78 27
1. &0 &F/Y-HFT &I ’IH fosan ST
2. i ot =i =i fean s
3. A dedwm

4 T S & i e e

Options:

64635071767, 1
64535071768, 2
64535071769, 2
E4E35071770. 4

Question Number : 69 Question Id : 64635018279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one is the lowest population size class identified for the rural settlements by the
Census of India, 20117

I Less than 100
2. Less than 200
3. Less than 400

4 Less than 500
Options:
E4E35071771.1
G4G35071772. 2
6435071773 3
64535071774, 4



Question Number : 69 Question Id : 64635018279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HIRd &I SI0MET, 2011 H A6 SiEl o g fasa-1 S-reed ol g S-sed =141 7417
1. 100 ¥=H

2. 200 ¥ HH

3. 4009 HH
4. 5009 FH
Options:

64535071771, 1
E4E35071772. 2
EAEZ5071773. 3
BAE35071774. 4

Question Number : 70 Question Id : 64635018280 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following is NOT a condition to get the demographic dividend?

1. Higher proportion of working age population

b

Creation of skilled labour force
3. Increasedjob opportunities

4. Increased proportion of child population

Options:

4635071775, 1
64535071776 2
64535071777, 2
64535071778, 4

Question Number : 70 Question Id : 64635018280 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ST - TR AT S3 & forg Fafeiaa & 3 &0 geagul = -Tel o
1. SR g g dt @t ge iy g

2. PEI YiHS! B e
3. oW & HaEL H ggrad

4. STl Bl FTHE 1 Sl gl SJurd
Options:
64635071775, 1
64635071776, 2
64635071777, 3
64635071778, 4



Question Number : 71 Question Id : 64635018281 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following is expressed correctly with respect to the child dependency
ratio (CDR), old age dependency ratio (ODR) and total dependency ratio (TDR)?

1. High CDR + Low ODR = High TDR
2. High CDR + High ODR = High TDR
3. Low CDR+ High ODR =Low TDR

4 High CDR + Low ODE.=Low TDR
Options:
64535071779, 1
6435071750, 2
435071751 2
64535071782, 4

Question Number : 71 Question Id : 64635018281 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Tl frrear srgord (&0, 1. o), gEraw FArHRaT s (3l S 3 SR o ik sroa
@ 2t 3R F Hey & FofafEa # 8 2 98 = F sifiesa 27

1. IS AR + FE a0 Bl 3. = 3= 4. 81 3R

]

3= HI. Bl R, + 3= 3. B1. 3. = 3= . 8. AN
3. .3 em +s= e S eR = Fgd g R
4. IHEELEL AR + Fg o B om. = g A Bt e

Options:
435071779, 1

E4E35071780. 2
E4E35071781. 2
BAE35071782. 4

Question Number : 72 Question Id : 64635018282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In which vear India passed "The Rights of Persons with Disabilities Bill"7

1. 2014

2. 2015

3. 2016

4. 2017
Options:

B4E35071783. 1
64535071784, 2
64535071785, 3



EAE35071786. 4

Question Number : 72 Question Id : 64635018282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U # foem oo “f-raa cofdaat &1 sifier At uwiva faar man?

1. 2014
2. 2015
3. 2016
4. 2017

Options:

64535071783, 1
64535071784, 2
E4E35071735. 2
E4E35071736. 4

Question Number : 73 Question Id : 64635018283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to Population Census (2011) of India, which among the following major
state has the largest household size?

i Uttar Pradesh

[~

Tamil Nadu
3.  West Bengal

4 Kerala
Options:
B4AB35071787. 1
E4E25071788. 2
E4E25071789 3
64535071790 4

Question Number : 73 Question Id : 64635018283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

YR &1 T0MAT (2011) % HF9R FufiEy & @ g v & 7ol =1 ser w6 &7

1. S UCH
2. diEeErg
3. OfEm Ema



Options:

64535071787, 1
4835071738 2
4535071729, 2
64535071790, 4

Question Number : 74 Question Id : 64635018284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Population Census of India, which of the following states has recorded
the largest share of widow population?

1. Assam

2. Kerala

3. Gujarat

4. Odisha
Options:

645350717511
BAE350717382. 2
64535071733, 3
64535071734, 4

Question Number : 74 Question Id : 64635018284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HRd @ T & SaR, Fafiiad & @ feg vog | fararsit &1 den waitis fels &t
TS &7

1 A

2. &

3. TR™

4. ofifgeEm
Options:

E4E350717391. 1
6435071732 2
64535071733, 3
64535071734, 4

Question Number : 75 Question Id : 64635018285 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Medical Certification of Causes of Death (MCCD) Feport, 2015 which of
the following diseases has caused highest proportion of deaths?

1.  Diseases of circulatorv svstem

[

Diseases of digestive system

3. Diseases of respiratory svstem
4 Neoplasm
Options:

64535071735, 1
EAE35071736. 2
EAE35071737. 3
64535071738, 4

Question Number : 75 Question Id : 64635018285 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g HIvd FRe dadl Fafeo yam-uA @8, 9. 9. 31) ufade, 2015 & uR, Fofefaa §
q o 71 o SR i 9o g% &7

1. Tag 9iEre oF |es 1

b
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hoig

4. Fds Bl HEHN TG
Options:
E4535071795. 1
64AG35071796. 2
64835071797 2
64835071798, 4

Question Number : 76 Question Id : 64635018286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is the crux of the “multiple nuclei model’ proposed by
C.D. Harris and Edward Ullman?

1. Few cities forming growth nuclei

]

One citv with multiple growth points
3. Few small towns considered as growth nuclei
4. Cities and towns together form a growth nuclei

Options:
64535071799, 1



E4E35071800. 2
64535071801, 3
B4E3507180%2. 4

Question Number : 76 Question Id : 64635018286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

. 21, 2w 3R Usars Iuid GRI WIfdd ‘Sg-hiae AleT o HulyN ] &7

1. SEdSAEE A AHME S F% e1s o

b

s T (e agd | o =m g
3. Sgd Ure ¥ B TR &I fie &1 s AT g

4 TITRIRTReAAfT e sssade

Options:

64835071799, 1
E4E35071800. 2
64535071801, 2
64535071802, 4

Question Number : 77 Question Id : 64635018287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Assertion (A) : Dryregions are generally less populated.

Reason () : Wateris essential for the growth of the civilization.

Which among the following is a correct code?
1. Both{A)and (R) are correct but (R) is not the comrect explanation of (A)
2. Both(A) and (R) are correct and (F.) is the correct explanation of (A)
3. (A)is true but (R) is false

4. (A)is false but (R) is true
Options:
E4525071803. 1
E4E25071804. 2
64535071805 =
64635071306 4

Question Number : 77 Question Id : 64635018287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HiiwYT (A) - Y[ WoR GHIGal SH &S] Ak gid
d® (R) . Tl & 9o & 10 o e Bl
Frofafas & 9 &F-9 e 981 87

L (A) SR ®) SH w6 & fog R), (A) 168 arem 1el &
(A) R R) SHITAT AR R), (A) F ¥ oM R
3. @wuEeleg®) Tas
4. (AR Rg®R) W E

Options:

E4E35071503. 1
64535071804, 2
64535071805, 5
64535071806, 4

]

Question Number : 78 Question Id : 64635018288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following is NOT a pessimistic concept in terms of population
growth?

1. Population will overshoot the carrving capacity by 2072

2. Population grows faster than food production

3. Agricultural intensification increases food production

4. Population pressure on common property resources will lead to tragedv
Options:

E4E35071807. 1
E4E35071808. 2
64535071805, 3
64535071810, 4

Question Number : 78 Question Id : 64635018288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TR 912 & de & Prufad 4 S srmuRon PR 78 &7
1. o 2072 Ao O BT SiE THS1 g5 &1 ¥ % g
T B giG W S S SuaT @i Bl &
3. TE B % GrRaeuEe Jded A sead g @
4. IR S R S & 19 & GRSy FE ! I sl

Options:
435071507, 1

E4E35071808. 2

b



E4E3507 1803, 3
B4E535071810. 4

Question Number : 79 Question Id : 64635018289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following population distributions are NOT suitable to applv
parametric statistics?

{a) Positively skewed
(b) Negatively skewed
(c) Bimodal
(d) Nommal
Which of the following codesis comrect?

1. (a). (b)and (c)

]

(a). (b) and (d)

3. (a). (c) and (d)

4 (@ and(b)

Options:

64635071811, 1
64535071812, 2
64535071813 2
48350712814, 4

Question Number : 79 Question Id : 64635018289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frofafaa # @ H-91/8 Saifesey oo faa wiferst § vgea 89 & fou owgea
el 87

(a) HATHFOH

(b) BUTES T

(c) fesgoam

{(d) HHY
Frofifed 89 -5 98 7

- T

1. (). (®) R ()

2. (). (b) 3R (d)

3. @ (0 @)

4. (2) 3R (b)
Options:
43507158111
LAC2ZE071812. 2
LdE2E0715812 2
EAEZENF1E14. 4

Sub-Section Number: 3
Sub-Section 1d: 646350893
Question Shuffling Allowed : Yes

Question Id : 64635018290 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (80to 82)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH



Direction : Answer questions on the basis of the following diagram :

Sub questions

Question Number : 80 Question Id : 64635018291 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

» L
» -
3

g

[:: = doctors, then

which among the following depicts Zone 47

= skilled population; = marned population and

1.  Skilled, marned and doctor
2. Married and doctor
3. Not skilled doctor

4, Skilled doctor

Options:

64635071815, 1
64535071816, 2
64535071817, 2
4835071818, 4

Question Number : 81 Question Id : 64635018292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following depicts Zone C7

1. Skilled and married

]

Married and doctor

3. Doctor but not married

4. Notmarmried and not doctor
Options:
46350715819, 1
64535071820, 2
64535071821, =
64535071822, 4

Question Number : 82 Question Id : 64635018293 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which among the following depicts Zone B?

1. Married and skilled

]

Skilled doctor

3. Skilled doctor and not married

4. Marmied doctor
Options:
4025071523 1
64635071524, 2
64635071525 2
64535071526, 4

Question Id : 64635018290 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (80to 82)
Juestion Label @ Comprehension



frdzr: frafaidd sRRIM & 2NMYR 9R u & IR difore :

B I‘ g CI
e 5| A @
bt

Sub questions

Question Number : 80 Question Id : 64635018291 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afe, 1.1 = pua s _ Pz st R Lo ¥ — R @,
fraferlad & 9 @ i A o) Freftd exdig?

1. o9, [darfed ok Rifbas

2. faarfea ok fiibas

3. ofpud fafbare

4. pud fHibae

Options:

64535071815, 1
4835071816 2
E4E35071817. 2
64535071818, 4

Question Number : 81 Question Id : 64635018292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFafetea & 9 fred @9 ¢ et g &2

1. FE R fafea

b

faarfea iR Ffews
3. Tuleds (e sifqartsd

4. Adifaariea 718 Afews
Options:
645350718191
64E35071820. 2
E4E3E071821. =
G4G3507 1822, 4

Question Number : 82 Question Id : 64635018293 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FafafEa & 9 faed on B &1 A= g 22
1. fEared ok Fea
2. FuM Hifews

3. FuEa fafems SR sifdafea

4. Toarted Fiews
Options:
645350718231
G4AE3E071824 2
64535071825, 2
6435071826, 4

Sub-Section Number: 4
Sub-Section |d: 646350894
Question Shuffling Allowed : Yes

Question Number : 83 Question Id : 64635018294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following is NOT stated cormrectly?

1. Coale and Hoover talked about population growth and economic
development

]

Ester Boserup talked about agricultural intensification
3. Paul Ehrlich talked about population explosion

4. Robert Malthus talked about technological improvement

Options:

64535071827, 1
64535071828, 2
4835071829 2
4535071220 4

Question Number : 83 Question Id : 64635018294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafsfaa & 9 =F-91 sy 7o 87
1. @i AR ER 3 ogen 3fE iR snfife e =t ea &1 0

b

SR SIENY A 75 S @l & @i i
3. Ui it 3 oae Aere &1 ard =t ot

4. Yiec AeYE A Uit ffea & e d g & 4

Options:

64535071827, 1
64535071828, 2
64535071829, 2
4835071220 4

Question Number : 84 Question Id : 64635018295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following methods is used to remove the effect of age structure on
crude death rate?

1.  Adjusted children age structure

b

Adjusted older age structure
3. Standardization

4. Adjustment of sex ratio

Options:
64535071531, 1



EAE3507 1832, 2
64535071833, 3
64535071824, 4

Question Number : 84 Question Id : 64635018295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frafafaa 53 SHE-3 worel 2=ifid g & W 31 991 & W19 &1 5eH & [o7d T &t
oIl &7

1. T ST g S

2. HMET GGl W=
3. AFSE
4. fRivTIgUa =1 S

Options:

64635071831, 1
64535071832, 2
64535071833 2
64535071334, 4

Question Number : 85 Question Id : 64635018296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which formula is comrect for converting M. (proportion of death) to g, (probability
of death)?

Enﬂﬂffx
24+n n;‘u”x
= nM’x
B 2
2n M
3_ X
hﬁ
4 ﬂ‘l‘{x
2xn- M.
Options:

E4535071835. 1
64535071836, 2
64535071837, 3
64535071838, 4

Question Number : 85 Question Id : 64635018296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L 2n ﬂM’x
2+n ﬂ;‘;fx

" ﬂM’x

. 2

5 Erzﬂﬁffx

2n

4 rz‘lfx

Em-ﬂM’x
Options:

64535071835, 1
64535071836, 2
64535071837, 3
EAE3507 18358, 4

Question Number : 86 Question Id : 64635018297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The first UN model life table was based on how manv national life tables?

1. 150
2. 158
3. 160
4 168

Options:

64635071839, 1
64535071840, 2
64535071341, =2
4835071242, 4

Question Number : 86 Question Id : 64635018297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A g, U, Wid3=4 g drieie! fha-1 WP wig difersrsl o s iz

1. 150
2. 158
3. 160
4. 168
Options:

B4E535071839. 1
64535071840, 2
64535071841, 3



EAE35071842. 4

Question Number : 87 Question Id : 64635018298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Crude Death Rate (CDE) does not always reflect the real level of mortalitv because it is
affected by :

1.  infant mortality (< 1 vear)

]

under-five mortalitv (0—4 vears)

3.  matemal reproductive age (15—49 vears)

4. age structure of population

Options:

645350715843, 1
64535071844, 2
4835071845 =2
4535071246, 4

Question Number : 87 Question Id : 64635018298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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b

Ui ¥ i 7 g2 (04 341g ar)

3. A [SdAEEd Ay (15-49 31y gre)

4. SHEEN S G EEA
Options:
64635071542 1
4635071544 2
64635071545 3
435071546 4

Question Number : 88 Question Id : 64635018299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following statements is NOT correct?

1.  Process and output indicators are used for monitoring of programme

bt

Monitoring indicators are available in programme records and reports

3. Outcome and impact indicators are used for programme evaluation

4. Outcome and impact indicators can be calculated from monitoring records
Options:
435071547, 1
E4E3507 1545, 2
64535071849, 5
64535071850, 4

Question Number : 88 Question Id : 64635018299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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b
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Options:

4835071347, 1
64535071348, 2
64535071849, 5
64535071850, 4

Question Number : 89 Question Id : 64635018300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In a life table, I, represents total number of years lived beyond age x and is

symbolically written as :

1. T,=T,+L

b

T=fghd,
3, BTk,

4 T,=L,+L,

Options:

64635071851, 1
4835071852 2
64535071552, 5
64535071854, 4

Question Number : 89 Question Id : 64635018300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U g aifeet B, 7, 3R] x & UK o9 (60 Y 991 & $0 9O &I il &, SR faw
e iBTes &9 H forar o1 87

L E=Ehi,

]

T,=L.+L,

3. T,=T,+L

£ E-L4
Options:

64535071851, 1
64535071852, 2
64535071853 2
E4AE35071854. 4

Question Number : 90 Question Id : 64635018301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Life expectancy is usually a better summarv measure of mortality than crude death rate.
In which one of the following situations it makes no difference, which one vou use?

1. A rapid growth population

]

A population’s birth and death rates are equal
3. A stationarv population

4. A slow growth population

Options:
E4E35071555. 1



EAE3507 1856, 2
64535071857, 3
64535071858, 4

Question Number : 90 Question Id : 64635018301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
3T HHTETT] A R 9 e &1 3081 5 o &1 U% sgox 99 Aus o) Hoftfed
79 BH-9 Ryl # S5 oiaw 781 sl & & omg 3o H ard 87
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b
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Options:

4635071855, 1
64535071856, 2
64535071857, 2
64535071858, 4

Question Number : 91 Question Id : 64635018302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following correctly describes confounding?

1.  Itisnot possible to isolate effect of confounder variables

2. A confounder is intermediate variable affecting outcome variable

3. A confounder variable affects independent variable

4. A confounder is a wariable that influences both the dependent and

independent variables causing spurious association
Options:
E45350718559. 1
64535071860, 2
64635071361, 2
435071562, 4

Question Number : 91 Question Id : 64635018302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64635071859, 1
64635071860, 2
64635071861, 3
64635071862, 4

Question Number : 92 Question Id : 64635018303 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Under National Health Mission, District Earlv Intervention Centres are established to
improve quality of life of children 0—18 vears through screening and earlv detection.
Which of the following is not correct under it?

1.  Birth defects are treated
2. Deficiencies are treated
3. Development delavs and Disabilities are treated

4 Treatment expenditure will be met from funds available with Rogi Kalvan
Samitis (RKS)
Options:
4835071863, 1
64535071564, 2
64535071865, o
4535071866, 4

Question Number : 92 Question Id : 64635018303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535071863, 1
4835071864, 2
4535071865 2
4535071866, 4

Question Number : 93 Question Id : 64635018304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Under ‘National Health Mission® (NHM), which of the following options is correct
combination of determinants of "good health™?

1. Nutrition, sanitation, culture, hvgiene
2. Nutrition, sanitation. education, environment
3. Nutrition, sanitation, education, economic development

4. Nutrition, sanitation, hvgiene and safe drinking water
Options:
64535071867, 1
64535071868, 2
64535071869, =
64535071870, 4

Question Number : 93 Question Id : 64635018304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TP W fiEE (@, 19 ) & saia Mefifed J ¥ eE-u few o W &
frufvet &1 98 TE &7

1. O, saesdr, SEBh, ST

2. 9wy, T, e, watar

3. O, Tl e, anfifs o
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Options:

64535071867, 1
64535071868, 2
64535071869, =
64535071870, 4

Question Number : 94 Question Id : 64635018305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : Female literacy is the best contraceptive to make positive impact on
fertility.

Reason (R) : If women are literate, their mamiages will be delaved and their
reproductive behaviour will change and they will have optimal total
fertility.

Which among the following is a correct code?
1. Both{A)and (R) are true and (R) is the cormrect explanation of (A)
2. Both(A) and (F) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false
4. (A)is false but (R is true

Options:

45350715711
4535071872 2
64535071873, 2
64535071874, 4

Question Number : 94 Question Id : 64635018305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64635071871, 1
4535071872 2
64535071873, 2
64535071874, 4

Question Number : 95 Question Id : 64635018306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following options is NOT micronutrient deficiency?

1. Iron and Folate deficiency

b

Proteins deficiency
3. lodine deficiency

4. Vitamin A deficiency
Options:
64535071875, 1
64535071876, 2
64535071877, 2
64535071878, 4

Question Number : 95 Question Id : 64635018306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535071875, 1
64535071876, 2
64535071877, 2
64535071878, 4

Question Number : 96 Question Id : 64635018307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the "Risk measures’ given in List—I with their "Explanations’ given in List—II :

List-1
(a) Relativerisk {i)
(b) Attributable fraction (ii)
{c) Attributablerisk (iii)

{d) Population attributable risk  {(iv)

List-II

The excess annual incidence of
avoidable adverse outcome in the
population

Strength of association between risk

factor and outcome

Ratio of attombutable nsk and
incidence of outcome with msk
factors

Difference in incidence of outcome
with risk and without risk population

Choose the comrect answer from the codes given below :

(-
'

(@)1 (b)(ii): (e)—(iv): (d)(i)

(@)—m): (b)iv): (c)i): (d-G)
3. (a)yi); (b)) (-(v): (d-0)
4. (a): (b)Gl) (e)-(): (d)-v)

Options:

45350715749, 1

6453507135380, 2

E4E35071881. 2
BAE3507188%2. 4

b

Question Number : 96 Question Id : 64635018307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L (@) (b)): (civ): (d)id)
2. (a)): (o)Hiv): (eHiiD): (d)-d)
3. (aH): (b)) (cHiv): (d-1)
4. @) ()G (©-): (d)-iv)

Options:

64535071879, 1
4835071880, 2
4535071881, 2
64535071882, 4

Question Number : 97 Question Id : 64635018308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is true about ‘Bridge population’ in the context of HIV
transmission?

1.  Thev conduct behavioural sentinel surveillance among high risk population

]

Group of people who spread disease from high risk population to low-risk
general population

3. Group of people who connects service providers to high risk population

4. Group of people who promotes health education message among high risk
population

Options:

64635071883, 1
4835071884, 2
645350713585, 5
4535071886, 4

Question Number : 97 Question Id : 64635018308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350718831
4535071884, 2
64535071885, o
64535071886, 4

Question Number : 98 Question Id : 64635018309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the population norm for Urban Pnmarv Health Centre being established under
National Urban Health Mission (NUHM)?

1. 25,000-30,000

I|--.I'

30,000-40.000
3. 40.,000-50.,000

4. 50.000-60,000
Options:
E4E25071857. 1
EAE2507 1888 2
E45350718859. =
64535071890 4

Question Number : 98 Question Id : 64635018309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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1. 25,000-30,000

bt

30.000-40.000
3. 40.000-50,000

4. 50.000-60.000

Options:
64635071887, 1



EAE3507 1888, 2
E4E535071885. 3
64535071830, 4

Question Number : 99 Question Id : 64635018310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match different tvpes of Indicator given in List—I with their Examples given in List—II :

List—I List—II

{a) Inputindicator (i) Increase in institutional delivery

(b) Process indicator {ii) Timely supplv of oral contraceptive
pills

{c) Outputindicator {1ii) Number of ASHAs trained and
functioning

(d) Outcome indicator (iv) Reduction in matemal deaths during
delivery

Choose the correct answer from the codes given below :
1L (i) (0 ()l (d-v)

(@), (b)) (e (d)iv)

3. (@) (b)—(i): (c)(v); (d)Gii)

4. (@) ®u): (-av): (d-1)

Options:

64535071891, 1
64535071892, 2
64535071893 2
64535071594, 4

]

Question Number : 99 Question Id : 64635018310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Lo (@) (b)) (e)iid); (d)—iv)
(@), (b)) (@D (d)iv)
3. (i) (b)) (e)(iv); (d)iii)
4 (@) (b)) (c)-Gv): (d)-()

Options:

64635071891, 1
64535071892, 2
64535071893 2
64535071594, 4

b

Question Number : 100 Question 1d : 64635018311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is NOT covered under *Mission Parivar Vikas® under the familv
planning programme?

1.  Rollout ofinjectable contraceptive “Antara’

]

Augmenting of PPIUCD services
3. Augmenting sterilization services

4. Providing more ASHA workers in districts with TFE. = 3
Options:
E453507158595. 1
645350718596, 2
64835071397 2
E4E3507 1595, 4

Question Number : 100 Question Id : 64635018311 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835071395, 1
E4E35071896. 2
64535071897, o
4535071898, 4

Question Number : 101 Question Id : 64635018312 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following health services are NOT covered under the Prime Minister Jan
Arogva Yojana (PMJAY)?

1. Hospitalization expenses

bt

Day care surgeries
3.  New Bom child services

4. Counselling services
Options:
64535071599, 1
4835071900, 2
64535071501, =
64535071902, 4

Question Number : 101 Question Id : 64635018312 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4E35071895. 1
64535071900, 2
645350713901, 3
645350713902, 4

Question Number : 102 Question Id : 64635018313 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match the tvpes of research study in health given in List—I with their description given

in List—II :
List-I List-II

{a) Descriptive studv (i) Purpose is to investigate risk factors
to the disease

(b) Analvtical studv {ii) Measures the incidence of disease
over time
(c) Case control study (iii) Measurements of exposure and the

effect are made at same time

(d) Cohort study (iv) The studv analyses the relationship
between the health status with other
variables

Choose the correct answer from the codes given below :
1L (@) (b)v): () (d)i)
2. () ()HEv): () (d)id)
3. (@) (b)) (e)-v): (d)-()
4 (@) (b)) ()—iv): (d)-Q)

Options:

64535071903, 1
4835071904, 2
4535071305 2
64535071906, 4

Question Number : 102 Question Id : 64635018313 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1L (@) (b-av) (e)-): (d)-)
2. (@) (bHEv): ()-(): (d)—iii)
3. (au): (b)) (e)iv): (d)-i)
4. (ari): (b)) (c)-uv) (d)-1)

Options:

64535071903, 1

64535071304, 2

E4E25071905. 3
E4BZ5071908. 4

Question Number : 103 Question Id : 64635018314 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Much of the problems of the societv can be attributed to the inequities of the social
institutions especiallv greed and accumulation of povertv. This view-point can be best
attributed to

1. John Graunt
2. William Godwin
3. Thomas BE. Malthus

4. Robert Wallace
Options:
E4E35071907. 1
64535071308, 2
64535071309, 3
64535071910, 4

Question Number : 103 Question Id : 64635018314 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. WHAEe
2. fafemmarsféa
3. UiOH R 3
4. Yigcdad
Options:
£4835071907. 1
£4635071908. 2
64635071909, 3
64635071910, 4

Question Number : 104 Question 1d : 64635018315 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term Demographv™ was coined bv
1.  John Graunt
2. Achille Guillard
3. William Petty

4. Edmund Hallev
Options:
64635071911, 1
64535071912 2
64535071313 2
64535071314, 4

Question Number : 104 Question 1d : 64635018315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT Weg &1 Wiaure feae far ur?

1. wHude

2. ufefiers

3. fefergmued

4. TUsHs W
Options:

64535071911, 1
EAE35071912. 2
E4E35071913. 3
B4535071914. 4

Question Number : 105 Question 1d : 64635018316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which of the following country is characterized bv “ecological deficit™?

1. USA

2. Canada

3. Russia

4. Australia
Options:

645350719151
64535071916, 2
64535071917, 3
E4E35071915. 4

Question Number : 105 Question Id : 64635018316 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4. affefemn
Options:

E4535071915. 1
E4E35071916. 2
64535071917, 3
645350719158, 4

Question Number : 106 Question Id : 64635018317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following contributed the largest share of intemational migrants as source
area in 20177

1. USA
2. Russia
3. China
4. India

Options:

64635071919, 1
645350719320 2
64535071321, 2
4835071922 4



Question Number : 106 Question Id : 64635018317 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ty 2017 ® Fofafea & © 559 & &1 99 43 & $u § iy vartal § sy G
Gl?

1. Hgad I SRS
2. =4
3. dF
4. Yrd

Options:

64535071919, 1
645350719320 2
64535071321, =
64535071322, 4

Question Number : 107 Question 1d : 64635018318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Intemnational migrants accounted for what percent of the world population in 20177

1. Below 2 percent
2. 2-5 percent
3. 5-7 percent

4. &-10 percent
Options:
4350714923 1
E46835071924. 2
E4635071925. 3
E46350714926. 4

Question Number : 107 Question Id : 64635018318 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T 2017 & foy =t wiem & fean wfomm siaeiya vt 47

1. 2ufd=sad &H
2. 2-5yfaRE

3. 5-7 wid=Ed

4 g-10wfa=m

Options:

64535071923, 1
4835071924 2
4535071925 2
64535071926, 4



Question Number : 108 Question Id : 64635018319 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

While defining migration, which of the following is considered?
1.  Crossing over an administrative boundarv with change in place of residence
2. Change in place of residence
3. Frequency of trips made

4. Distance covered
Options:
646350719271
64635071925, 2
64535071929 2
E4de350719230. 4

Question Number : 108 Question Id : 64635018319 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e 1 IRHITE S we Hiied | 9 fee w G @ e 87
1. o= # oived afed e smmate 9 &1 OR &
2. e e aiadd
3. HM-OH B aERal

4 THI TRl
Options:
64535071927, 1
64535071928, 2
64535071929, 3
64535071930, 4

Question Number : 109 Question 1d : 64635018320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one is the comrect sequence of Union Territories in descending order on the basis
of levels of urbanization in 20117

1. NCT of Delhi, Puducherry, Daman & Diu and Chandigarh
2. NCT of Delhi, Chandigarh, Daman & Diu and Puducherry
3. Chandigarh, NCT of Delhi, Daman & Diu and Puducherrv

4. Chandigarh, NCT of Delhi, Puducherrv and Daman & Diu
Options:
C4EZE071921. 1
E4EZEQD71952. 2
C4E3E071953. 2



EAE35071924. 4

Question Number : 109 Question Id : 64635018320 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a4 2011 B FTUAT & IR MEHHI0 & WHI & AR T 3Hael HH § 69 T4 831 FI
el HH B9 67

1. g ey 8 e, gg=, anF SR fas qurddine
2. U aar 4= faeh, 3Ehe, e o fee aurgg=d
3. deig, TP ey 8 faweh, e o e au g
4. deig, uprE a8 faeeh, ggadl aur e eiv e

Options:

4635071951, 1
64535071932, 2
64535071933 2
64535071934 4

Question Number : 110 Question Id : 64635018321 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Urban centres with population size of less than 5000 persons contribute what percent of
total urban population in 20117

1.  Less than > percent
2. 3—7 percent

3.  8-10 percent

4. 10-12 percent
Options:
642350714935, 1
64635071936, 2
64635071937, 2
4635071935 4

Question Number : 110 Question Id : 64635018321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

a4 2011 B THUFT F HIUR S0 Wedl oS $1 fea W= @ 5000 § S e
ard wedl # T &2

1. syldEdd &H
2. 5-7 widEd
3. g—10wfda=ME
4. 10-12 wia=rd

Options:
648350719351



EAE35071936. 2
64535071937, 3
64535071928, 4

Question Number : 111 Question 1d : 64635018322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The largest contributor to urban growth in India during 2001-2011 is
1.  rural to urban migration

2] rate of natural increase

3. new towns minus declassified towns
4. expansion in municipal limit
Options:

645350719359, 1
64535071940, 2
64535071941, 3
EAEZ5071942. 4

Question Number : 111 Question Id : 64635018322 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a¥ 2001-2011 % ERF HRA ¥ W o-Eem 3fE & waifyes dreH fage &7
1. rEor S gl &3 B 3R ugeH
2. S ® |Ye® giG oY
3. 8RS araried TR wit e &
4. IR &7 51 S § fowR

Options:

64535071939, 1
64835071940 2
4535071941, =2
64535071942, 4

Question Number : 112 Question Id : 64635018323 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to 2011 Census, what percentage of India’s population resides is urban
areas’

1. 2527 percent
2. 2830 percent
3. 3032 percent

4. 35-37 percent

Options:



E4E35071943. 1
64535071944, 2
64535071945, 3
64535071946, 4

Question Number : 112 Question Id : 64635018323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

¥ 2011 DI TAUAT & HIER YRG &I feva1 Ufsia s-sen Zredl 831 8 Tedt 87

1. 25-27 Wiawd

2. 28-30 WiawE

3. 30-32 W=

4. 35-37 W=
Options:

E4E35071943. 1
64535071944, 2
64535071945, 3
64535071946, 4

Question Number : 113 Question Id : 64635018324 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the equation I = PAT, which letter represents income?

1: 1
2 P
3 A
4. T
Options:

64535071947, 1
64535071948, 2
E4E35071948. 3
E4E35071950. 4

Question Number : 113 Question Id : 64635018324 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TS0 ] = PAT B SHF-T1 &R 31T 7T &7

B
2. P
3. A
4 T

Options:

64835071947, 1
4535071948, 2
64535071949, 5
64535071950, 4

Question Number : 114 Question Id : 64635018325 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following is the most appropriate method to represent trends in birth-
rate in a region?

1. Line graph

]

Pie diagram
3. Bar diagram

4 Band graph

Options:

6453507149511
64535071952, 2
64535071952,
64535071354, 4

Question Number : 114 Question Id : 64635018325 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fdt 83 & 99 =2 &1 ughyal =1 uefdfd = & fm Fofafad & 9 =9-9 99 swge
fafy &7

]

a5 A%

4 dsUw

Options:



E4E35071951. 1
64535071952, 2
64535071953, 3
64535071954, 4

Sub-Section Number: 5
Sub-Section 1d: 646350895
Question Shuffling Allowed : Yes

Question Id : 64635018326 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (115to 119)
Cuestion Label © Comprehension

Direction : Answer on the basis of the data given below -

Heights of fathers and their eldest sons

Height of Father | 65 | 63 | 67 | 64 | 68 | 62 [ 70 | 66 | 68 | 67 | 69 | 71
(inches)

Height of Son| 68 | 66 | 68 | 65 | 69 | 66 | 68 | 65 | 71 | 67 | 68 | 70
{(inches)

Sub questions

Question Number : 115 Question Id : 64635018327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Median (statistical measure of location) value of height of the son is -

1. 67 inches

T 67-5 inches

3. 66 inches
4. 68 inches
Options:

E4535071955. 1
64535071956, 2
64535071957, 3
64535071958, 4

Question Number : 116 Question Id : 64635018328 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Modal wvalue (statistical measure of location) of the height of the son is :

1.  63inches

2. 66inches

3. 67 inches

4. 68 inches
Options:

64535071955, 1
64535071960, 2
64535071961, 3
EAEZ5071962. 4

Question Number : 117 Question Id : 64635018329 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Range (statistical measure of variation) of the son’s height is :
1.  70-66 inches
2. 7165 inches
3.  65-71 inches

4. 71-66 inches
Options:
64535071963, 1
64535071964, 2
64E35071965. =
64535071366, 4

Question Number : 118 Question Id : 64635018330 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Correlation between heights of father and son is :

1. 1§

]

—1
3.  positive with value less than 1

4. negative with value between 0 to—1
Options:
64635071967 1
64350715968, 2
E4E350715969. 2
E4E25071970. 4

Question Number : 119 Question Id : 64635018331 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Regression equation between the heights of father and son is ¥ =358+48X,

where ¥ = height of son and X that of father. Which of the following options are correct
interpretations of the equation?

(a) Height of son increases with height of father

(b} Height of son increases bv 0-48 inches per inch increase in height of father
(c) Height of son starts with 35-8 inches

(d) Height of son increases by 0-48 times the height of father

Choose the correct answer from the codes given below -

1. (a)and(c)
2. (a)and (b)
3. (c)and(d)
4. (b)and(c)

Options:

64535071971, 1
64535071372, 2
64535071373, 2
4535071974, 4

Question Id : 64635018326 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (115to 119)
Cestion Label | Comprehiension

Féw.: =R sies & suR W oy €. &1 9w Sifog

o R ST AR @ F S A= e 6

forr &t Sa1g 65 | 63 | 67 | 64 | 68 | 62 | 70 | 66 | 68 | 67 | 69 | 71
(39 H)
o B HaTs 68 | 66 | 68 | 6
GaH)

LA

690 | 66 | 68 | 65 | 71 | 67 | 68 | 70

Sub questions

Question Number : 115 Question Id : 64635018327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T B TS Bl AR (srafRufy @ gifegest |) @ 87

1. 6739
2. 675%d
3. 66%d
4. 6834

Options:

64535071955, 1
64535071356, 2
64835071957, 2
4535071958 4

Question Number : 116 Question Id : 64635018328 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

™ &I FaATE &I agas A4 (Hafufa & vitess am) 3 & oF-91 87

1. 6539

2. 66%d

3. 6734

4. 6834
Options:

E4E35071959. 1
E4E35071960. 2
B4E535071961. 3
4535071962, 4

Question Number : 117 Question 1d : 64635018329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fed &H-9 @ & S & 49 (R0 &1 95 7H) &7

1. 70-663%9
2. 716554
3. 657159
4. T71-66%d

Options:

64535071963, 1
64535071364, 2
4835071965 2
4535071966, 4



Question Number : 118 Question Id : 64635018330 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o & w9 - fian i 43 &t 918 & 9w 9 9y 27
i i
2. =}
3. 1 4 &HYHE#HS AH

4. 03-1 & 7O BUHS 01

Options:

4835071967,
4835071968,
4535071969,
4535071970,

o LIRS

Question Number : 119 Question Id : 64635018331 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
i ofR U3 &1 FaTs & T AT THiET 8 =358 +48.X,
SR V=13 &I Sars X ial &1 a8

fFrofafaa 3 fey faew/fom el § oo aiftewn =t 98 aran =t 15 22
() TA DI Sl Ual Sl Hams & GU TGl o
(b) T DI TS T B TS & 0-48 §9 3 wedl §
(€) T FHuR358 AT
(d) TF B! Hams ATt HamE | 0-48 T Eedli &

2 i M oe 7 | vt s gfu:
1. (a) IR (c)
2 (@RE)
3. () 3R (d)
4 ()M
Options:

64535071971, 1
4535071972 2
E4E35071973. 3
EAE35071974. 4

Sub-Section Number: 6
Sub-Section Id: 646350896
Question Shuffling Allowed : Yes



Question Number : 120 Question Id : 64635018332 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What percent of India’s urban population reside in slums in 2011 Census?

1. =30

2 250299

3. 20-0-24-9

4. 15-0-199
Options:

645350719751
64535071976, 2
4535071977, 3
EAEZ5071978. 4

Question Number : 120 Question Id : 64635018332 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Y 2011 B SO & YR W HRd S Wi F99e &1 a1 ufamg st st #
fFram s &2

1. =30

2. 250299
3. 200249
4. 15-0-199

Options:

64535071975, 1
64535071376, 2
E4E35071977. 2
E4E35071978. 4

Question Number : 121 Question Id : 64635018333 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given (i) Census population of UP for 2011, (i) Fertilitv and mortalitv levels for 2018,
and (iii) Migration during various decades. Which of the following components need to
be projected for projecting UP population to the vear 20217

1.  Fertility alone

]

Mortality alone
3.  Fertilitv and mortalitv

4. Fertility, mortality and migration

Options:

64635071979, 1
645350719380, 2
64535071381, =
4835071982 4

Question Number : 121 Question 1d : 64635018333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(i) 8 2011 & FTFIUHT & HTER 0% o=l B o9, (i) 9 2018 & ¥e= AN 59 &3
T SR (i) fafts euret & ward & omuR X af 2021 # ST VoW @ w-ee o welfta
& fom Fufafaa 3 S o ges =1 vafta 5o om =t smewsar 27

1. Faauaadce

b~

o Jg X
3. WO el R gg

4 Ue o, Y &Y R
Options:
645350719791
64535071980, 2
64535071981, 3
64E35071982. 4

Question Number : 122 Question Id : 64635018334 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the fertilitv indicators shown in List—I with the data required for its denominator
shown in List—II -

List—I List—11I
{a) Total Fertility rate (i) Total population
{(b) Total marital fertility (ii) Total number of women in
rate reproductive age groups
(c) General fertilitv rate (iii) Age specific women in reproduction
ages
{d) Crude birthrate (iv) Age specific marmied women in

reproductive age

Choose the correct answer from the codes given below -

L (i) (b)(iv): (e)(i): (d)-D

b

(a)-(): (b)—iv): ()i (d)—)
3. (@) (b)iv): (e)Hi): (d)-D)
4. (@); (eav): (1) (d)iid)

Options:

4535071983, 1
645350719384, 2
64535071385, 2
64535071336, 4

Question Number : 122 Question 1d : 64635018334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 & gRITE U W Sehde! o gEi-11 | Sftatad sue Huo S i enfég siiest |
LEINGES TS

eI 11
(a) U () oo oEEn
(b) T daied T &l (i) W T T © A & oa den
(c) EH WaH g3 (iii) WS 31 Hi Afgenai o1 fafy smg
(d) EfideHET (iv) WA g H foaifea afgems &1 faftp
Y
Ara fgu e H 9 Jg S g

L @) (b)-(v): (e)ii): (d)1)
2. (@) ®)v): (i) (d)—(u)
3. (@) (b)iv): (o)) (d-@)
4 @) (b)-(v): (1) (d)-is)

Options:

64835071983, 1
4535071984, 2
64535071985, o
645350719386, 4

Question Number : 123 Question Id : 64635018335 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In order to compute net reproduction rate, which option of data among the following is

NOT needed?
1.  Sexratio at birth
2. Sexratio in reproductive ages

3. Age specific fertility rates

4. Lifetable
Options:
64635071987, 1
64635071988, 2
646535071989, 3
6463250719390 4

Question Number : 123 Question 1d : 64635018335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frea vo 22 3t o & fer e & @ S0-a sifeer shféa T8 27

1. o9& gag femgu

2. oA g E T

3. 3y TRy e &

= iR IINGa)|
Options:

E4E35071987. 1
64535071988, 2
64535071989, 3
64535071930, 4

Question Number : 124 Question Id : 64635018336 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which large state in India has the highest percent of SC/ST population in 2011 Census?

1.  Chhattisgarh
2. Jharkhand
3. Madhwva Pradesh

4. 0Odisha
Options:
645350719911
64535071932 2
64535071933, 3
64535071994, 4

Question Number : 124 Question Id : 64635018336 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

9 2011 B FHIUAT & HYN W YD & 59 55 0 § a1/ A9, f TI9e 959
it 27

1. Suae
2. EREs
3. HEWCH
4. effgEm

Options:
4535071494911

E4E35071982. 2
E4E350719393. 3
B4E35071954. 4

Question Number : 125 Question Id : 64635018337 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
What is the level of population sex ratio in India as per 2011 Census?

1. 950+

2. 94010945
3. 93010939
4. 920tc929

Options:

64535071995, 1
64535071396, 2
4535071997, 2
4535071998, 4

Question Number : 125 Question Id : 64635018337 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 2011 B FTHIUFT & HTER UG & Sae & RETguTd &1 87

1. 93509 3fi=
2. 940 | 949
3. 930 ¥ 939

4. 920 ¥ 929
Options:
64635071995, 1
£4635071996, 2
£4535071997. 3
c4dEZ2E5E0719958. 4

Question Number : 126 Question Id : 64635018338 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which large state has the second lowest infant mortality rate in 2016 as per SES data
(Kerala is the lowest)?
1.  Punjab
2. Maharashtra
3. West Bengal

4 Tamil Nadu
Options:
64635071999, 1
E4E35072000. 2
4535072001, 5
4535072002, 4

Question Number : 126 Question Id : 64635018338 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

fug sl deita JuTelt (U8, SR, U9.) & #ies & SaR ad 2016 H HRA & 69 98 o U=
# 1R8] 5o o3 gAaH § (30 | Haiise gaad e g &3 g)

1. d9e

2. g

3. OiEgm e

4. dfterg
Options:

645350719399, 1
E4EZ507 2000, 2
E4E3507Z001. 3
BAE3507 2002, 4

Question Number : 127 Question 1d : 64635018339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What percent of India’s, population is above age 60 in 2011 Census?

1. 6069

2. 1019

. 8-0-89

4 9099
Options:

64535072003, 1
E4E3507 2004, 2
EAE3507 2005, 3
EAE3507 2006, 4

Question Number : 127 Question Id : 64635018339 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ad 2011 B TIOAT & YR R YRG5 60 T8 T FWR S 1 & Afaaal &1 afa=d SHE-91
G

1. 6069

2. 1019

j. 8089

4. 590959
Options:

E4E35072003. 1
6435072004, 2
64535072005, 3
E453507Z00E6. 4



Question Number : 128 Question Id : 64635018340 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following methods is NOT used in life table construction :

E: Leslie’s method
Feed and Mermrell’s method

]

% King’s method
4. Chiang’s method
Options:
435072007, 1
E4E83507 2008, 2

BAE3507 2003, 3
BAE3507Z010. 4

Question Number : 128 Question 1d : 64635018340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

wig arfereet A & Fafafag 4 3 few &l &1 gogm =9t o 9 &2

1. hodl fafd
2. s ok W fafy
3. fowfary
4 i fafy

Options:
435072007, 1

E4E3507 2008, 2
EAE3507 2003, 3
EAE3507Z010. 4

Question Number : 129 Question Id : 64635018341 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The total number of person—vears lived after age x in a life table is calculated as

m
i T =%im
=L

AR ]
A
e

g ey
=

Options:
64635072011, 1



EAE3507 2012, 2
B4E3507 2013, 3
BAE35072014. 4

Question Number : 129 Question 1d : 64635018341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

oite arferet & 319 x & 9uTq oafad & ofta 9y &1 mor fFafefEd o § fay ver @t et
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Options:

64535072011, 1
64535072012 2
4835072012 2
4535072014, 4

Question Number : 130 Question Id : 64635018342 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Two of the following options are correct to emphasize that birthrates in two population
groups cannot be compared unless :

(a) bothpopulation groups use similar denominators
(b) both population groups use the same age distributions

(c) effects of all parameters which are extraneous to birth are excluded from

both

{d) all parameters which are extraneous to birth are standardized, their effect is
adjusted and made common

Choose the correct answer from the codes given below -

1. (a)and(b)

2. (b) and (c)

3. () and(d)

4. (2)and(d)
Options:

64535072015, 1
64535072016, 2
EAEZ507 2017, 3
EAE3507 2018, 4

Question Number : 130 Question Id : 64635018342 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35072015. 1
64535072016, 2
B4E35072017. 3
45350720158, 4

Question Number : 131 Question Id : 64635018343 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which large state in India has the highest percent of urban population in 2011 Census?

1.

]

3.
4.

Options:

B4535072015,
E453507 2020,
E453507 2021,
EAEZS07 2022,

MMaharashtra
Tamil Nadu
Gujarat

Kerala

o IR

Question Number : 131 Question Id : 64635018343 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535072015, 1
64535072020, 2
64535072021, 3
EABEZS07 2022, 4

Question Number : 132 Question Id : 64635018344 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Hajnal's Sigulate Mean Age at Mamiage (SMAM) method, which one of the
following assumptions does NOT hold true?

1. No change in marriage pattemn

2. No mortality differentials by marital status
3.  Nochange in age structure

4. No migration differentials by marital status
Options:
435072023 1
64535072024, 2
64535072025, 5
64535072026, 4

Question Number : 132 Question Id : 64635018344 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Eaﬁﬁiﬂﬁ?lﬂ?mﬂ?ﬁw (@9, . U 1) fafy o Fofataa 5 9 oF-4 g@yron a6

1. fae = ugfa® &8 ofvada 78

2. ales Ul & SRUHY &Y H $Ig 3y 78!
3. Hg-EIEA Hers g el

4. daofee UGS SNUYEN § S sfde T8

Options:

E4E35072023. 1
4535072024, 2
64535072025, 2
64535072026, 4



Question Number : 133 Question Id : 64635018345 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Find the odd-one out based on the basis of respective viewpoints of population
development interrelations

1.  FRobert Wallace
2. Ester Boserup
3.  Colin Clark

4. Julian Simon

Options:

64535072027, 1
64535072028, 2
64535072029, 2
E4E35072020. 4

Question Number : 133 Question Id : 64635018345 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. Uecdad

2. SEXERRY

3. It =S

4. offeEH R¥EE
Options

E453507Z027. 1
EAE3507 2028, 2
EAE3507 2029, 3
EAE3507Z020. 4

Question Number : 134 Question Id : 64635018346 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following statement is false?

1.  The period prevalence rate is frequentlv used than the point prevalence rate.

]

The period prevalence rate is the sum of point prevalence at the beginning
of the period plus incidence of cases during the period.

3. In case of acute illness of relatively short duration, the period prevalence
rate is approximately equal to the incidence rate when period of observation
is sufficiently long.

4. When a population is exposed to the risk of a disease for a limited period of
time only, the incidence rate may be termed as the “attack rate’.

Options:

64835072031, 1
E4E35072032. 2
64535072022, 5
64535072034, 4

Question Number : 134 Question Id : 64635018346 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64635072031, 1
64635072032, 2
64635072033, 3
64635072034, 4

Question Number : 135 Question 1d : 64635018347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match mortality rates given in List—I with their description in List—II :

List-I List—II

(a) Infant mortality rate (i) No. of deaths of infants < 29 dawvs of
age per 1000 life births

(b) Neonatal mortalitv rate {ii) No. of deaths of infants < 7 davs of
age per 1000 life births

{c) Post-neonatal mortality  (iii) No. of infant deaths < 1 vear of age
rate per 1000 live births

(d) Earlv neonatal mortality  (iv) No. of deaths of infants from 29 to
rate 364 davs of age per 1000 life births

Choose the correct answer from the codes given below :
1L (@) (b)) (c)(ii); (d)Gv)
2. (@) (b)-): (i) (d)iv)
3. (aHi) (b)) (c)-(v): (d)-(i)
4 (@) (b)) (e)y-): (d)-Q)

Options:

64835072035, 1
E4E350720326. 2
64535072037, 5
64535072038, 4

Question Number : 135 Question Id : 64635018347 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L (@ (b)) (e)(i); (d)y—iv)
2. (ap) (b)) (c)ii): (d)y-1v)
3. (ar): (b)) (e)-v): (d)-i)
4. (@rv): (b)) (c)-(): (d)y-(1)

Options:

64535072035, 1

64535072036, 2

EdEZ507Z037. 3
E4BZ507 2038, 4

Question Number : 136 Question Id : 64635018348 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given an abridged life table, with its usual columns of /., ,g.. ,L.. T, and e, which

of the following options is correct for computation of probability of survival from
60 to 85 vears of age?

Ll
*Ffo
2 ELE'}
Fﬁ,
5.8
3. 3
Ef::l
B
Options:

B4535072029. 1
64535072040, 2
64535072041, 3
EAEZ507 2042, 4



Question Number : 136 Question Id : 64635018348 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35072029. 1
EAE3507 2040, 2
B4E35072041. 3
BAE3507 2042, 4

Question Number : 137 Question 1d : 64635018349 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Census of India defines migration on the basis of
(a) place of birth
(b) place oflast residence
{c) distance covered

{(d) duration of stav at the place of residence

Choose the correct answer from the codes given below -

1. (a)and(c)
2. (a) and (b)
3. (b) and (c)
4 (yand(d)
Options:

E4E35072043. 1
E4E3507 2044, 2
64535072045, 3
BAE3507 2046, 4

Question Number : 137 Question 1d : 64635018349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. (a) 3R ()
2. (@) ¥R ()
3. @R
4. (o) SR (d)
Options:

E4E35072043. 1
BAE3507 2044, 2
64535072045, 3
E453507Z04E. 4

Question Number : 138 Question Id : 64635018350 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items given in List—I with those in List—II :

List-1 List-II
(a) Illegal migrants (i) Migration of Europeans to different
parts of the world
(b} Forced migrants (ii) Svrians in Turkey
(c) Refugees (iii) Slave trade
(d) Voluntary migrants (iv) Overstaying beyond official sanction

Choose the correct answer from the codes given below :

1L (@iv) (b)) (i) (d)-()

b

(@) (o)) (e)(i): (d)~iv)

3. (a): (b)) (i) (d)-iv)

4 (@n); (b)) () (d)-av)



Options:

64535072047, 1
4835072048, 2
4535072049 =2
4535072050, 4

Question Number : 138 Question Id : 64635018350 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L (@v): (b)) (i) (D

bt

(a)—(1): (b)i); (e)); (d)iv)

Lid

(@), (b)-): (e)ii): (d)iv)
4 @) (b)) (- (d)-iv)

Options:

4835072047, 1
E4E35072048. 2
64535072049, o
4535072050 4

Question Number : 139 Question Id : 64635018351 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the items in List—I with the names of the authors in List-1II :

List-I List—II
{a) Essav on Principles of (i) John Grant
Population
(b) Bills of Mortality (ii) Thomas E. Malthus
(c) Limits to Growth (iii) G Hardin

(d) The Tragedy of the Commons (iv) P_Ehrlich and A Ehtlich

Choose the comrect answer from the codes given below :

L (@HD: (b)) (e (d)-v)

-t

(a)-(i). (b)) (c)-av): (d)-1)
3. (i) (b)) (e)—(iv); (d)ii)
4. (@) (b)}-): (e)-iv): (d)(i)

Options:

64535072051, 1
64535072052, 2
64535072052, 5
64535072054, 4

Question Number : 139 Question Id : 64635018351 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L (@)-@): (b)-u): (c)Gid): (d)—(v)

b

(a)(ii); (b)) (c)—(iv): (d)-1)
3. (@) (b)~): ()—v): (d)(ii)
4. (@) (b)-D): (c)Gv): (d)—(i)

Options:



E4E35072051. 1
BAE3507 2052, 2
64535072053, 3
64535072054, 4

Question Number : 140 Question Id : 64635018352 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following does NOT match with mercantilist viewpoints on
population growth?

1.  Population growth is essential forincrease in national revenue
2. Expanding trade
3.  Restriction on immigration
4. Penalties fornon-marriage
Options:

64535072055, 1
64535072056, 2
EAEZ507 2057, 3
EAE3507 2058, 4

Question Number : 140 Question Id : 64635018352 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535072055, 1

64G3507 2056, 2
64535072057, 3
64535072058, 4

Question Number : 141 Question Id : 64635018353 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“Each societv at each point in history has its own law of population.”” The statement
forms the basis of which of the following :

1. Marxian perspective
2. Condorcet’s utopian ideas
3.  Neo-Malthusian viewpoints

4. Ancient thinkers on population
Options:
646350720559 1
E4E3507 2060, 2
E4E2507 2081, =
EABZ5072062. 4

Question Number : 141 Question Id : 64635018353 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535072059, 1
64535072060, 2
E4E35072061. 2
E4E350720E82. 4

Question Number : 142 Question Id : 64635018354 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is the comrect sequence of mega cities of the world
arranged in descending order of population size in 2015 as per World Urbanization
Prospects, 20187

1. Tokvo, Delhi, Shanghai, Mexico City
2. Delhi, Tokvo, Shanghai, Mexico City
3. Delhi, Mexico Citv, Tokvo, Shanghai

4. Delhi, Shanghai, Tokyvo, Mexico City

Options:
64535072063, 1
4535072064, 2

EAE3507 2065, 3



EAEZS07Z0EE. 4

Question Number : 142 Question Id : 64635018354 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
a¥ 2018 FI fay TEEI0 WIS (Saeg, g, W) Ui & 2gaR 2015 # SHES H6R &
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Options:

BAE3507Z0E3. 1
64535072064, 2
64535072065, 3
EABE3507Z0EE, 4

Question Number : 143 Question Id : 64635018355 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Match the source of demographic data given in List—I with the agency responsible for it
given in List—II :

(a)
(b)

(c)

(d)

List-I

Sample registration svstem

Demographic survey

Service statistics

Coverage evaluation survey

List-II
UNICEF
Ministry of Health and Familwv
Welfare
International Institute of

Population Studies

Office of Registrar General of
India

Choose the correct answer from the codes given below -

|

bt

4.

Options:

(a)-(): (b)—{iv). (c}ui). (d)-{)
(a)-D): (o)) (c)-(v); (d)-)
(aGv): (b)(Gi): (e)-(Gi): (d-{)
(@) vy (eH-@): (d)iid)

4535072067, 1
E4E3507 2068, 2
EAEZ507 20643, 3
EAEZ507Z070. 4

Yes



Question Number : 143 Question Id : 64635018355 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L (@), (b)Hiv); (e)ii): (d—D)
2. (@)D (b)id); (c)-v); (d)(i)
3. (@) (b)) (c)-(): (dy-@)
4 @) (b)-(v): ()—1): (d)is)

Options:

64535072067, 1
64535072068, 2
E4E35072069. 2
E4E35072070. 4

Question Number : 144 Question Id : 64635018356 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Urban transition in the less developed parts of the world differs from the experiences of
developed countries in which respect?

{a) The scale and pace are unprecedented
(b) Rural tourban migration is the largest contributor to urban growth

(c) There is a mismatch between average income levels and pace of urban
transition

(d) Nature and direction of urban transition is more linked with global economyv
now than before

Choose the correct answer from the codes given below :

1. (a). (b)and (0

]

(a). (c) and (d)
3. (b). (c)and (d)

4 (a)and(c)
Options:
645350720711
64AG3S07 2072 2
E4AE3E07 2073, 2
G4G3507 2074, 4

Question Number : 144 Question Id : 64635018356 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535072071, 1
64535072072, 2
E4E3S072072. 2
E4E35072074. 4

Question Number : 145 Question Id : 64635018357 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following methods should be preferred for estimation of population of

India for the vear 201> (Assume population projections of expert committee are not
available)?

1.  Estimate the arithmetic rate of population growth for the period 20012011

(Census wears). Use the rate of growth to project population from 2011
to 2015

]

Estimate the geometric rate of population growth for the period 2001-2011

(Census wears). Use the rate of growth to project population from 2011
to 2015

3.  Estimate the exponential rate of population growth for the period 2001

2011 (Census vears). Use the rate of growth of project population from
2011 to 2015

4. Use birthrates and death rates for the inter-Census period 2001-2011.
Determine the rate of population growth (birthrate-death rate) and use it to
project population from 2011 to 2013



Options:

64535072075, 1
E4EZE5072076. 2
E4E3E072077. 2
4535072078, 4

Question Number : 145 Question Id : 64635018357 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635072075, 1
64535072076, 2
64535072077, 2
E4E3S072078. 4

Sub-Section Number: 7
Sub-Section 1d: 646350897
Question Shuffling Allowed : Yes

Question Id : 64635018358 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH



Direction : Answer on the basis of the table given below :

Table : Population Growth, Crude Birth and Death rates and Sex ratio - Census 19012011

Year Population % % Annual Crude Crude Sex

(Million) Decadal Exponential Birth Death Eatio

Growth | Growth Rate Rate Rate
Rate

1901 238-4 = = 45-8 44-4 972
1911 252-1 315 +0-56 49-2 42-6 964
1921 251-3 -0-31 - 0-03 48-1 47-2 935
1931 279-0 11-00 +1-04 46-4 36-3 950
1941 318-7 14-22 + 1255 45-2 31-2 945
1951 361-1 1534 g s 38-9 27-4 046
1961 439-2 21-64 +1-96 41-7 22-8 941
1971 548-2 24-80 +:2-20 41-2 19-0 930
1981 683-3 24-66 +2-22 37-2 15-0 934
1991 846-4 23-87 + 218 32-5 11-4 927
2001 1028-7 21-54 +1-97 24-8 29 933
2011 1210-9 17-70 + 163 21-8 -1 943

Source ; Regisirar General and Census Conmissioner ndia, 2071
= td

Sub questions

Question Number : 146 Question Id : 64635018359 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following vears, national rate of population growth was maximum?

1. 2001

2.

3. 2011

4. 1991
Options:

64535072073, 1
EAEZ507 2080, 2



EAE3507 2081, 3
BAEZ507 2082, 4

Question Number : 147 Question Id : 64635018360 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following decades, maximum absolute decline in Crude Birth Rate
{CBR) took place?

1. 19411951

2. 1991-2001
3. 19711981
4. 19011911

Options:

4835072083, 1
64535072084, 2
64535072085, o
64535072086, 4

Question Number : 148 Question Id : 64635018361 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

During which of the following decades, rate in change of sex ratio has been highest
compared to the preceding decade?

1. 20012011

]

1921-1931

3. 1911-1921

4. 1981-1991
Options:
G4G35072057. 1
64535072088, 2
64G3507 2089, 2
G4AE3507 2080, 4

Question Number : 149 Question Id : 64635018362 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



During which of the decades given below, maximum absolute decline in Crude Death
Rate (CDR) took place?

1. 19011911

2. 19211931

3. 19311941

4. 1941-1951
Options:

645350720391, 1
E453507 2032, 2
EAEZ507 20393, 3
EAE3507 20594, 4

Question Number : 150 Question Id : 64635018363 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
From which of the following decade, Census (decadal) growth rate started declining?

1. 21 10Gd

2: 111901

3.  1941-1951
4. 1971-1981
Options:

64535072035, 1
EAE3507 2086, 2
EAE3507 2087, 3
EAE3507 20398, 4

Question Id : 64635018358 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



frdz . = & S arfere & e wy % I dife -

T - e gis, SrEnfia o SR g &% ud g - 1901-2011 S0

aq oAEE | Ul | aiSe Ui | EiYd | s/mmgd | femgua
(e | g eesr| gfas | o\ | g9
) EIGEG] Tferrd
1901 2384 — - 45-8 44-4 972
1911 252-1 5-75 +0-56 49-2 42-6 964
1921 2513 ~0-31 ~ 0-03 481 472 955
1931 279-0 11-00 +1-04 46-4 36-3 950
1941 318-7 14-22 +1-33 452 31-2 945
1951 361-1 13-31 +1-25 39-9 27-4 946
1961 4392 21-64 +1-96 41-7 22-8 941
1971 548-2 24-80 +2-20 412 19-0 930
1981 683-3 24-66 +2-22 372 150 934
1991 846-4 23-87 +2-16 325 114 927
2001 1028-7 | 21-54 +1-97 24-8 89 933
2011 1210-9 17-70 +1-63 21-8 7-1 943

(G : YT & HEigage Jie a7 H1gad 2011)
Sub questions

Question Number : 146 Question 1d : 64635018359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FreftfEd 3 9 fog o & ovien o @1 @vfas o @iy 42

1. 2001

2. 197

3. 2011

4. 1991
Options:

EAEZ5072073. 1
EAE3507 2080, 2



EAE3507 2081, 3
BAEZ507 2082, 4

Question Number : 147 Question Id : 64635018360 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frofafaa & § 29-9 coe d smifig o 52 @ &1, o) & Taifis et frge o 3t
LEY:

1. 1941-1951

2. 1991-2001

3. 1971-1981

4 1901-1911
Options:

E453507 2083, 1
64535072084, 2
64535072085, 3
EAE3507 2056, 4

Question Number : 148 Question Id : 64635018361 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFrofafea 39 59 ooe $ SRm ffmgara # uftad= =t 22 dadf gmre =t o & waiiys
TE1?

1. 20012011

]

1921-1931

3. 1911-1921

4. 1981-1991

Options:

4535072087, 1
64535072088, 2
64535072089, =
64535072090, 4

Question Number : 149 Question 1d : 64635018362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frofafea 5 @ fou ove & gRE omifia gg &% @, 31 aR) # Ry fvige w9 @2

1.  1901-1911

2. 1931193}

3. 19311941

4. 19411951
Options:

64535072051, 1
E453507 2082, 2
64535072033, 3
EAE3507 2054, 4

Question Number : 150 Question Id : 64635018363 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SO & {69 SR | SRS W EE gl oY ge §R= gdl?

1. 19211931

2. 19111921
3. 1941-1951
4. 1971-1981

Options:

64635072095, 1
64535072096, 2
64535072097, 2
E4E35072098. 4



